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��� ���
� ��
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 ������� �� 𝑁 := {1, . . . , 𝑁}� <����� 𝑖 	������ �	
��� 𝑎𝑖 
��� � ���
� ��
 𝐴𝑖� ���
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𝑖𝐴𝑖 �� �� �	
��� ������� ��� ���
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( ������ ������ �� ����
�� 𝑢 := (𝑢1, . . . , 𝑢𝑁)� )�7�� �	
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� � ������ ������ 𝜃−𝑖 �
 
�� �
��� �������� �
 ���


�� 
�� 	��� 
��
 ������ 𝑖 ���/�� ���
��� 
�� �		���
��� ������� 𝜇𝜃𝑖,𝜃−𝑖

� 𝜇𝜃′𝑖,𝜃−𝑖

�� ����� �
�
� 
��


�� �������� ����� (𝜃𝑖, 𝜃−𝑖)� �����
���� �
 𝑣 �� �� ����������� ����� ��	
��� 
��� �
 ���
 �� 
�������


�� ���� ���������
� ���
����
���� ��
��
���� � ��
 �
 ��	��
��� 	����
�����
� 	����
�����

�� ��
����	� 
����� ����� 𝑈𝐷𝑖 #
�� �����
���� �����
���' �� 
�� ��
 �
 
������ (𝜃𝑖, 𝜃
′
𝑖, 𝜃−𝑖) ∈

Θ𝑖 ×Θ𝑖 ×Θ−𝑖 ��	� 
��
 𝜅(𝜃𝑖, 𝜃−𝑖) ∕= ∅ ��� 𝜅(𝜃′𝑖, 𝜃−𝑖) ∕= ∅� ��� ��	��
��� 	����
�����
� 	����
����

	�� �� ���

�� ��

∀𝑖, (𝜃𝑖, 𝜃′𝑖, 𝜃−𝑖) ∈ 𝑈𝐷𝑖, 𝑘 ∈ 𝜅 (𝜃𝑖, 𝜃−𝑖) : 𝑢𝑖(𝑘, 𝜇𝜃𝑖,𝜃−𝑖
) ≥ 𝑢𝑖(𝑘, 𝜇𝜃′𝑖,𝜃−𝑖

). (𝐼𝐶(𝑖, 𝜃𝑖, 𝜃
′
𝑖, 𝜃−𝑖))

����	 
�� �� 𝑣 ∈ 𝐵𝛿� 
��
 𝑣 �� �������� ��� ��	� (𝜇𝜃)𝜃∈Θ 
��
 ��
���� 𝐼𝐶(𝑖, 𝜃𝑖, 𝜃
′
𝑖, 𝜃−𝑖) ��� ���

𝑖 ∈ 𝑁 �
� (𝜃𝑖, 𝜃
′
𝑖, 𝜃−𝑖) ∈ 𝑈𝐷𝑖�

������ ,������ 
�� 
�� ��/� �
 	��
����	
��� 
��
 
�� ���� 𝑖 ∈ 𝑁 ��� (𝜃𝑖, 𝜃
′
𝑖, 𝜃−𝑖) ∈ 𝑈𝐷𝑖� 
��

������� ��������
� ������ >������� ��� 
�� ���� �
 	�����
� ��
����
��� �� ���	� 
�� �
�
� ��

��



𝑘� ��� 	������� ������ 𝑖 �
 
��� 𝜃𝑖� .� ������� �� �
 ��� 
��� ���� 𝜃
′
𝑖� ������ 𝑖 	�� ������
��

𝑢𝑖(𝑘, 𝜇𝜃′𝑖,𝜃−𝑖
)� ���	� �7	���� ��� ����������� ����� 𝑢𝑖(𝑘, 𝜇𝜃𝑖,𝜃−𝑖

)� ���� �� � ����
���� �����
���� □

��� 
��������	 ��� ����
 ��
����	�
�

( �����
��� ������ ����
 �� ���� 
� ����
�
� �� ��
� -�� ���
��	�� �
 ������ 𝑖 	������ �� �	
���


��
 �� ��	�����
��
 ��
� ��� ��� 
����+ ����������� �
��
������ 
��� �
 �� �������
��� 	�����

/�������� ����� ������� 
��
 𝑖 �����
��� ,��	� �� ���/ 
� ����
�
� ���� � ��	������ 	����
���


��
 ������ 𝑖+� ����������� ����� ��	
�� ���
 ��
��
�� 
�� ���� ���	
��� 
�� ���������
� 
��

���/�� 
�� 	����
���� �����
���� �� ��� �
��
 �� �������� 
��
� �
 ������ 𝑖 �����
��� ��� �
���

������� 	������� /��� 
�� ��
����
��� 
��
 �� ���
����
�� ����� 
���� �� 
���� ��� 
�� ���



�������� 	����
���� 
�� � ���������
� ���� �� ���� 
�� ������ ��� �� ��� ������ 
��
 ������ 𝑖+�

�����
��� �� 	����� /��������� ���� �
� 
�� ���� �����
���� �� 𝑖� 
��� ���� ��
 ���

,
���� �
 
�� ��
 �
 �
�
�� 𝜅(𝜃−𝑖) �� ��
 � ������
��� ������� −𝑖 	����
 
����� 
�� ���������

�
��
��� 
� 
�� �	
��� �
�
� �
 
�� ������ ,������� 
�� ���
��	�� 
��
 𝜅(𝜃−𝑖) = {1, 2}� �� �����
��
��
�� -����� �� .�	���� ������ −𝑖+� �
��
���� �

�� ��	� � �����
���� ���
 �� ���	
��� �� ��
� �����
�
 	�����
� ��
����
��� �����
��������� �
 ���
 ������
�� 
��
 ������ 𝑖+� ����� �� ����� 
��� 𝑣𝑖

�� ��
� �
� 	�������
��� ����������
�� �
 ���
 �
��
��� ������ 𝑖 ����� 6�
� 
��
 �
 �� ���������


���
��� ������ 𝑖 	�� ���
������� 
���� 
�� �
�
�� ������
�

D�
�������� 
�� ���	� ������ �
 
�� ��	
�� 𝑣𝑖 ������� −𝑖 ���� ��	� � �
��
��� ��������� ���
������ � 
��������� 
��/� ��
 �� �� �����/����� 
��� �� �� �����
��� ���������
 #�
 ����
 �� 
��

�����	���
�� 	���' 
� 
�� ��
���
 𝑊 := {𝑣𝑖} −ℝ
2
+ ����� �� ������	����� ��
� ��� ��	������ ���

���	���
 	����
���� 
�� 
��� ��� �������� �� .��	/���� #�&*1'�

�$
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�

������ 𝑖+� ����� �� �
�
� 2

������ 𝑖+� ����� �� �
�
� 1

�𝑣𝑖

𝑊

��� ��
 𝑊 ���

�� ������	�����
�� ������� −𝑖

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

�
�

-����� �= <������ −𝑖 ���
 ���� � �
��
��� 
��
 ������
��� 
��
 𝑖+� ����� ���� �� 𝑊 �

�� 
��� ���� ������ 
�� 𝜃−𝑖 ∈ Θ−𝑖�

𝜑𝑖,𝜃(𝑞) := min
𝛼−𝑖∈

∏
𝑗 ∕=𝑖 △𝐴𝑗

max
𝑎𝑖∈𝐴𝑖

∑
𝑘∈𝜅(𝜃−𝑖)

𝑞(𝑘)𝑢𝑖(𝑘, 𝛼−𝑖, 𝑎𝑖).

-�� ��	� ������ 𝑖 ��� ��	� 𝜃−𝑖 ∈ Θ−𝑖� 	������� 
�� ��
 �
 ��������
���

∀𝑞 ∈ △𝜅(𝜃−𝑖) :
∑

𝑘∈𝜅(𝜃−𝑖)
𝑞(𝑘)𝑣𝑘𝑖 ≥ 𝜑𝑖,𝜃(𝑞). (𝐼𝑅(𝑖, 𝜃−𝑖))

����� ��������
��� ��� 
�� �������
� ����������
���� �
 
�� ���������� ��
������
� 	����
���� 
��


�� 
��������� 	���� 6�
� 
��
 �
 𝜅(𝜃−𝑖) = ∅� 
�� ��������
� �� ��	������ ��
������ 8
 𝜅(𝜃−𝑖) �� �

������
�� ��
 {𝑘}� 
�� ��������
� ����	�� 
� 
�� 
������� �����
��� �
 ���������� ��
������
� �����
	�����
� ��
����
���� ���� 𝑣𝑘𝑖 ≥ val 𝑢𝑖(𝑘, ⋅)� ����� val 𝑢𝑖(𝑘, ⋅) ����
�� ������ 𝑖+� �����7 ����� ��
�
�
� 𝑘� 8� 
�� �����
��� �
 𝜑𝑖,𝜃� ��
� 
��
 
�� �	
��� �
 ������� −𝑖 ��� �
�
��
�	���� ����������
�

����	 
�
 �� 𝑣 ∈ 𝐵𝛿� �
 ��
����� 
�� �
������
��� (𝐼𝑅(𝑖, 𝜃−𝑖)) ��� ���� ������ 𝑖 �
� 𝜃−𝑖�

������ 8
 ��� �
 
���� 	����
���� �� �����
��� 
���� ��	�������� �7��
� ��� ������� � 
��� ������

�?



𝜃−𝑖 ��� 𝑞 ∈ △𝜅(𝜃−𝑖) ��	� 
��
 
�� ������� ��������
� ������ ���� ������� 
��
 
�� ����� 𝛼−𝑖� 
����

�7��
� 𝑎𝑖(𝛼−𝑖) ∈ 𝐴𝑖 ��	� 
��


∑
𝑘∈𝜅(𝜃−𝑖)

𝑞(𝑘)𝑢𝑖(𝑘, 𝛼−𝑖, 𝑎𝑖(𝛼−𝑖)) >
∑

𝑘∈𝜅(𝜃−𝑖)
𝑞(𝑘)𝑣𝑘𝑖 . #�'

(����� ���
��� 
��
 𝑣 �� �� 𝐵𝛿 ��� ��
 𝜎 �� 
�� 	������������ ������������ 6�
� 
��
 ������� −𝑖
���� 
�� ���� �
��
��� �� ��	� �
�
� 𝑘 ∈ 𝜅(𝜃−𝑖)� >������� 
��� 
�� �
��
��� 𝜏𝑖 �
 ������ 𝑖 
��


����� 𝑎𝑖(𝛼−𝑖) �

�� � ���
��� ℎ
𝑡 ��	� 
��
 𝜎−𝑖(ℎ

𝑡) = 𝛼−𝑖� ��� ������ �
 ������ 𝑖 ����� (𝜏𝑖, 𝜎−𝑖)

��
����� 
�� ��������
� #�' ��� 
����
���� �� ���� 
�� ������ 8
 
������ 
��
 
���� �7��
� � �
�
�

𝑘 ∈ 𝜅(𝜃−𝑖) �
 ���	� 𝜏 �� � ����
���� �����
���� □

H���� 
���� 	����
����� 
�������� .��	/���� #�&*1'� ������� −𝑖 	�� ������ � ��������� �
��
���
������
 ������ 𝑖� M���� 𝜃−𝑖� ��� ��� ����� ��	
�� 𝑣 
��
 ��
����� 
���� ��������
��� �
��	
��� 
����

�7��
� 𝜀 > 0 ��� � �
��
��� ������ 𝑠
𝜃−𝑖

−𝑖 
�� ������� −𝑖 ��	� 
��
� �
 ������� −𝑖 ��� 𝑠𝜃−𝑖

−𝑖 � 
���

������ 𝑖+� �����	���
�� ����� �� ��� �
�
� 𝑘 
��
 �� 	�����
��
 ��
� 𝜃−𝑖 �� ���� 
��� 𝑣
𝑘
𝑖 − 𝜀 �� ���

���	���
�� ���� ���
��������� ������� �
 
�� ����� �� ��

�� 𝑖+� �
��
���� .� 	��
����
�� 
��� ����

����� 
��� 
�� ���	���
�� ���� ���
��������� �������� �
 
�� ���� ���� ������ ��� ���	���
���

�������� 
�� ���	���
 
�	
�� �� ���� ������� �7��� 
�� ����
� �
 
�� ����� ���� ������� −𝑖 ���
𝑠
𝜃−𝑖

−𝑖 � ������� −𝑖 ��� ���� 
� 	�
	�� ������ 𝑖� <����� 𝑖 �� 
�� ��
����� ������� ��� ������� −𝑖 ���

�� ��
����
� ��������

����� ���������� ��
������
� �� � ��	������ 	����
���� �
 �� ��
 
�� ���� ���� ����� ��� �
���

	��	������� �����
����� ������� 
� �� ����
����� ��	������ 	����
���� 8� ���
�	����� ���� �
 �

�����
��� ��
� ��
�	
��� �
 ����
 ��
 �� �������� 
� ����
�
� 
�� �����
��� 8
 ����
 �� 
��
 𝑖+�

�	
��� �� 	�����
��
 ��
� ���� �
 ��� 
����+ �
��
������ ��� �� �� ������ 𝑗+� �	
���� ��
 �� ����

�
 
���� 
�� ���	� ��
� �	
���� ����� �� �����
�������� 	�����
��
 �7��
�� ���� �
 �� 	�����

�A



/�������� ����� ��� ������� 
��
 ���� ������ �����
��� ��
 ��
 ��	�������� ���
��� �
 �� ������ 𝑖

�� 𝑗� ��
� 
�� �������� �
 	������ 
�� ����
�
� �
 
�� �����
�� �� ������ 	����� /���������

�� �� ���� 
������ ��
𝐷 �� 
�� ��
 �
 
��� ������� 
��
 ��� ��	�����
��
� ��
 	���� ����� �
 
����

��� � �����
���� �����
���� ���
 ��� 𝜃 �� �� 𝐷 �
 𝜅(𝜃) = ∅ ��� Ω𝜃 := {(𝑖, 𝜃′𝑖) ∣ 𝑖 ∈ 𝑁, 𝜅(𝜃′𝑖, 𝜃−𝑖) ∕=
∅} ∕= ∅� 8� �
��� ������ �
 ������� ���� 
� �����
 
���� 
����� ��� 
�� �����
�� ������ ��� �� 𝐷�

��� ������� ����� /��� 
��
 ��� ������ ���
 ���� ����� ��� ��
 Ω𝜃 �� 
�� ��
 �
 ����� #������� 
���'


��
 	���� ���� 	����� 
�� ��������
�	 ������	����
 𝜃�

-�� ��	� 𝜃 ∈ 𝐷� 	������� 
�� 	����
���

∃𝜇 ∈ △𝐴, ∀(𝑖, 𝜃′𝑖) ∈ Ω𝜃, ∀𝑘 ∈ 𝜅 (𝜃′𝑖, 𝜃−𝑖) : 𝑣𝑘𝑖 ≥ 𝑢𝑖(𝑘, 𝜇). (𝐽𝑅 (𝜃))

����� ��������
��� ��� 	����� N���
 @�
������
� #𝐽𝑅'� ���	� 
��� ������� ������ �
 �������
 �������

�����
���������� 6�
� 
��
 0���
 ��
������
� ���� ��
 ����� ���������� ��
������
� #
���� �� ��

����������
 
��
 ������ 𝑖+� �	
��� �� � ���
������'� ��� �� �
 ������� �� �
�

����	 
�
  ���� 𝑣 ∈ 𝐵𝛿 ��
����� ��� ��
�
���

� (𝐽𝑅 (𝜃))𝜃∈𝐷�

������ "�
 𝑣 ∈ 𝐵𝛿 �� �� ����������� ����� ��	
�� ��� 𝜎 �� 
�� 	������������ ������������

"�
 𝜃 = (𝜃𝑖)𝑖 ∈ 𝐷 ��� 	������� 
�� ��	� (𝑖, 𝜃′𝑖) ∈ Ω𝜃 
�� �����
��� 𝜏
𝑖 �
 ������ 𝑖 ��	� 
��
� �
 ���


��� �� 𝜃′𝑖, ������ 𝑖 ����� �� �
 �� ���� �
 
��� 𝜃𝑖� ���� 𝜏𝑖,𝜃′𝑖 = 𝜎𝑖,𝜃𝑖, ��� ���	� 	���	���� ��
� 𝜎𝑖 
��

��� �
��� 
����� ��/� 
�� ������
� (𝑖, 𝜃′𝑖) ��� (𝑗, 𝜃′𝑗) �� Ω𝜃� ��� ���
����
��� ���� ��
	���� �����

(𝜏𝑖,𝜃′𝑖, 𝜎−𝑖,𝜃−𝑖
) ��� (𝜏𝑗,𝜃′𝑗 , 𝜎−𝑗,𝜃−𝑗

) ��� 
�� ����� ���� 
��� �� 
�� ���
����
��� ����� 𝜎𝜃 = (𝜎𝑙,𝜃𝑙)𝑙∈𝑁 � 8�

������ 
���� �� �� ��� 
� ���
������� 
�� ��
��
��� �� ���	� ������ 𝑖 	�����
��
�� ����	� 
��� 𝜃𝑖

��� 
�� ��� �� ���	� ������ 𝑗 	�����
��
�� ����	� 
��� 𝜃𝑗 � "�
 𝜇 ∈ △𝐴 ����
� 
�� �		���
���

������ ����������" ��! ���� =	!� ���	���%�� �� ������� >'((2? �� � ��	�� 
��"�	 !���
4

�*



������� ������
�� �� 𝜎𝜃� 8
 𝐽𝑅 (𝜃) �� �����
��� 
���� �7��
� � ������ 𝑖 ��� � �
�
� 𝑘 ∈ 𝜅 (𝜃−𝑖) ��	�


��
 ������ 𝑖+� ����������� ����� �� �
�
� 𝑘� 𝑣𝑘𝑖 � �� �
��	
�� ����� 
��� ��� ����� �
 �� ���� 
� 
�����

𝜎𝜃𝑖 � � 	��
����	
���� □

�� 	��	���� 
��� ��	
���� �� ��
� 
��
 
�� 	����
���� 𝐽𝑅 (𝜃) ��� 	������ ����
�� 
� 
�� 	����
����

𝐼𝑅(𝑖, 𝜃)� 8������ ����� 
�� �����7 
������� �� ��� ���
� 
���� ��������
��� �� 
�� 
��������

��
����
��� ��� 	����	
 ���

∀𝑞 ∈ △{(𝑖, 𝑘) : 𝑘 ∈ 𝜅(𝜃−𝑖)} :
∑

𝑖,𝑘
𝑞(𝑖, 𝑘)𝑣𝑘𝑖 ≥ min

𝑎∈𝐴

∑
𝑖,𝑘
𝑞 (𝑖, 𝑘) 𝑢𝑖 (𝑘, 𝑎) ,

���	� ������
� ��
�����
��� 
�� ����
�
� �
 
�� �����
�� �� ���
 �
 
�� ��	��
���
� �
���
� -�� 
��

��/� �
 �����
�� �� �

�� ���
 �������
� ��� ��
�� 
� ��	� 
��� �
 	����
��� ������ �� 𝐼𝐶, 𝐼𝑅� ��

𝐽𝑅�

� ����	��� ����	�	��


"�
 𝑉 ∗ ⊂ ℝ
𝐾𝑁 ����
� 
�� ��
 �
 
������� ����� ��	
��� 
��
 ��
��
� 𝐼𝐶� 𝐼𝑅� ��� 𝐽𝑅� �� ����


��
 
��� ��
 	����	
������ 
�� ��
 �
 �����
�
��� ����������� ����� ��	
���� �� 
� �
� ��������

����
��

"�
 𝐾̂ :=
{
𝑘 ∈ 𝐾 :

∩
𝑖∈𝑁 𝐼𝑖(𝑘) ∕= {𝑘}} �� 
�� ��
 �
 �
�
�� 
��
 	����
 �� ���
��������� �� 
��

0��� �
 
�� �������+ ��
����
��� ���
�
����� "�
 𝑢̂ �� 
�� ��
��7 (𝑢𝑘
𝑖 (𝑎)) ��
� 𝑁 × ∣𝐾̂∣ ���� ���

∣𝐴∣ 	������� ����� 𝑘 ������� 
� 𝐾̂� ��� ������ 
��	
��� 𝑢 �� ��
���� �
 
�� ��
��7 𝑢̂ ��� ���/
𝑁 × ∣𝐾̂∣� 8������ ������� ��� ��	� ��
��7 �� �� ������
 �
 ℝ𝑁 ∣𝐾̂∣∣𝐴∣� 
��� 	����
��� �� ������	����

��
����� �������� ∣𝐴∣ ≥ 𝑁 ∣𝐾̂∣� ��� ���
 ���� �����
 �
 
��� ����� �� 
�� 
���������

������� ��� �� 𝑣 ∈ int 𝑉 ∗ �
� 𝑢 �� ��
����� 
���� ����
� 𝛿 < 1� ∀𝛿 > 𝛿� 𝑣 ∈ 𝐵𝛿�

�1
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��� �� ��
��� �
������ �� 
�� ��
���
��� �� �����
�� ����� ��
� ����

	���
���� ��� ��� ���� ���
 ��
����	�� �� -�������� ��� )��/�� #�&41'� 8� 
�� �������7� ��

������� � ����
 ����� 
�� ����
����� ������
���� 
��
 
���� �7��
� � �����	 ���������
��� ����	�

�� ����� ������ #�� ����������
 ���� 
��� 
�� ���
��� ���
����
��� �� 
�� ���
 ��
�����'� ���


��
 ������� 	�� ���� 	��
���� ��������� �� �����
�� �
 
�� ��� �
 ����� ������� �� ���� �� ��
��� 
��

���
 ������ �
 
�� ����� ��� ����
 ��
���
 ��	� � ����	� �� 	������	�
��� �� ��
��� �
������

��
 ���� �����
�� ��� 	�� �� 
���� �� 
�� ���/��� ����� # !����� "��� ��� ������� $%%&'�

��� ���/ ������
��� ������ � ������� �������� �� �
 ������ ������� 
� ������� ���������
�

��	��
���� �� �
�
�� 
��
 	����
 �� ���
����������

8
 �� ���
� ��/��� 
�� 
�������� 
�� �����/�� -���
� �
 ℐ ��� ℐ ′ ��� 
�� �������
 ��
�����


��� �
��	
���� 
�� 
�� ���� ����� ��� 𝑉 ∗� 𝑉 ′∗ ��� 
�� 	������������ ��
� �
 
�������� ��	��
���

	����
����� ������������ ��� 0���
�� ��
����� ����� ��	
���� ������� 
��
 𝑉 ∗ ⊆ 𝑉 ′∗ �
 ℐ ′
𝑖 �� ����


��� ℐ𝑖 
�� ��� 𝑖 ∈ 𝑁 � ���
 ��� 
�� ����
 ��
 �
 �����
�
��� ����������� ������ �� ����
���	 ��
�

�����	
 
� 
�� ��
����
��� �
��	
���� ����� 
�� ��
���� �������� �� ��	� �
��	
����� ,�	���� ��
�


��
 
�� 𝐼𝐶, 𝐼𝑅 ��� 𝐽𝑅 	����
���� ������ ��	������ ���� �
 �� ���� 
�� ������
��� ��
������
�

	���
����
 ������� �� �����������
�	
���� ���
 ��� 
�� ���� 	����	
�����
��� ����� ���� �
 �����
�


��� ���������� ��� ������ ��
� �����	
 
� 6��� ���������� �
 
�� ���������� 	�����
� ��
����
���

�����

� ��	
�����

B�� ���� 
������ �
�
�� 
��
� ����� 𝑉 ∗ ∕= ∅� ��� ����
� �� 
�� ��
����� �
 𝑉 ∗ ��� .-; ������ �


𝛿 �� ����� �������  ������� �	������� ��	��
��� 	����
�����
� 
���
��� ��
� ���������� ��
������
�

��� 0���
 ��
������
� ����
 ��
 �� ��������� �� �� ������� /���� 
��� 
�� 
��������� 	���� ���

�2
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���� ��� ��������� 8� 
��� ��	
���� �� ���� ��	������ ��� ���	���
 	����
���� 
�� ����

���
����� �
 𝑉 ∗� �� ����� ��
 ������� 
�� ����� �
 ���
��� �������� ����
� �
 𝑉 ∗ ��� 
���������

���������� �� ��
� ;��� �� 
�� 	��� �
 	�����
� ��
����
���� �
 �� ��
 /���� ����� ���	� 	����
����

�����7 ������ ��� ����������� ������ 
��������� #
��� �� 
�� 	���� ������	����� ���� �

��
��� ��

���
��	
�� 
� ���� �
��
����� ��� 
���� �7��
 ����
� �� 
�� 
������� ����� ��
 
��
 ���� ��	� ������ ���

�����7 ����� #������� �&&*''� ��� ��	� 	����
���� ������ ��� 
�� ���� ������� ���� ����� 
��


��
� 𝐼𝑅 ��� 𝐽𝑅 ��� ���
������������� �������� �
 ���������� ��
������
�� 8�	��
��� 	����
�����
��

�������� �� �� ����
����� 	����
���� ��� �� ���� 	�����
 �� ���� �
 	�� �� ���� �
��	
 #
��� ��


�� 	���� 
�� ���
��	�� 
�� ��� ���
 ��
 �
 �����
�'� (� � ���	
�	�� ��

��� �
 �� �������
� 
� �����


�� 	����	
�����
��� �
 𝑉 ∗ 
� ����
� 
��
 
�� ��
 ��� �������
� ��
������ 6�
� 
��
 -��������

��� L�����
� #$%%&�' ������� ���
�� ���	���
 	����
���� 
�� 
��� 
� �� 
�� 	���� 6�
� ���� 
��
�

�� ���
������ 𝑉 ∗ ��� ���� ����� 
� ���� �� �����
��
 ���� �� 
�� �
��� �
 6��� ���������� ��

�����
�� ����� ��
���
 ���	���
���� 
�� 
���� ���	��� 	���� �� ���	� ��	� � 	����	
�����
��� ���

���� ��
����� �� 
���

)��� ���	������ �� 	������� �������
 	������ �
 ����� ��	� 	����	
������ �� ���� ������
���

�
 
�� ������ 
��	
���� ���O�� �
 
�� ��
����
��� �
��	
���� -�� ��	� ��� �
 
���� 	������ ��

����� 
��
 𝑉 ∗ �� ��
 ���
� �� ����
�
���� ������ ��	
��� ��
��
���� 𝐼𝐶� 𝐼𝑅 ��� 𝐽𝑅� ��� �������

	���
����7������ ��
��� 
���� 	������ 
�� 
�� ��	����
� ���
� M���� 
�� ��
 �
 ������� 𝑁 � 
�� ��


�
 �
�
�� 𝐾 ��� 
�� ��
 �
 �	
���� ������� 𝐴� ��
 𝒰 := (ℝ𝐾×𝐴)𝑁 �� 
�� ��
 �
 ��� ������ 
��	
����

��� 𝒴 �� 
�� ��
 �
 ��
����
��� �
��	
����� -�� �� ��
����
��� �
��	
��� ℐ ��� � ������ 
��	
���
𝑢� �� ����
� �� 𝑉 ∗(ℐ, 𝑢) 
�� ��
 �
 ����� ��	
��� 
��
 ��
��
� 𝐼𝐶� 𝐼𝑅 ��� 𝐽𝑅�

�� ����
 ���� 
� �7����� 
�� ���	� ��
����
��� �
��	
���� �������
����� ��
���� 
�� ���

������ 
��	
����� �� 
�� ��� ������ 
��	
���� ��
��� ���� 	���� 𝒮 ⊆ 𝒰 � �� ����� 	������� 
���
���
� ,�	���� �� �7����� 
�� ���	� ������ 
��	
���� �������
����� ��
���� ����������
�� �
 
��
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�
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�
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�� ��
����
��� 
��
 	�� �� ������� ���	����� ��
��� ��	���� �
 �� ������ ��

���	���
�� ���� ������� ��� 
�� $������� ������ ��	���� �
 �� 	����� /��������� -�� ���
��	�� �



���� #�� ����' ������� /��� 
�� �
�
� �
 ��
���� �
 �� �
�����

������ 
� ������� 
���� ������� ��
�

�
��	
 ��	��
���� 
� ���	���� �
= ��	� ��
����� ������ �����
� 
�� 
��� �
�
� #
������ �� ���������
�

	���	� �
 �	
����'5 ����� ��� �����
���� �����
���� 
���� ��� �
��� �
 ����
 
�� ������� #� 	�����
�'

����� ��
����� ������� ��� �����
 �
 
��
�
����� ���
��
������ �� 
��� ��
����� ��� 
�� �
�
� ��

���������

)��� ���������� �� ����� ��/� ���	��� 
�� ��
����
��� ����
 
�� �
�
� 
��
 	�� �� ����

	����� /�������� ����� ������� ���� ����� �����
���� �����
����� ���� ���� ����� � ���
�
���

���� 
�� ��
 �
 �
�
�� 𝐾� (� ������
 �
 
��� ���
�
��� �� � 	�����
� ��	��
�

� ���
 ��� �
 
�� 
���

�
�
� 𝑘 ������� 
� 
�� ��0���
� 	�������
 𝐴� 
��� ����� �
��
����� 
��
 ��/ ������� 
� �����


���
��� 
�� �
�
� �� �� 𝐴 �� ��
� �
 ��	���� 	����� /�������� 
��
 
�� 
��� �
�
� ���� �� 𝐴 ��	�


�� �����
� ��� ����� ��� ���� �
 � ������ �����
������ �����
���

���� �������� 
��
� 
�� ����� 𝑘′′ ∈ 𝐾 ∖ 𝐴� �
 ����
 
���� ������� /��� 
��
 
�� �
�
� �� ��
 𝑘′′�
�� 
��
� ���� �
 ��� �
 
��� �����
��� �
 ����
 
�� �������+ �����
� ���� ��
 𝑘′′� >���������� �
 
��

�
�
�� 𝑘 ��� 𝑘′ ������ 
� 
�� ���� ��0���
� 	�������
 𝐴� 
���� 
�� ���� �����
 �
 ���� �������


���� ��� �� 
�� �
��� ������� ��� 	����� �� �����
��� 
��
�
����� ���
������� ��
���� 𝑘 ��� 𝑘′�

�&



�� ����� � ��0���
� 	�������
 
�������� �� ��
����	� 
�� 
�������� ���������	� ����
����

��������� ���

� !�� ���� ���� �� �
�
�� 𝑘, 𝑘′� ��
 𝜈(𝑘, 𝑘′) �� 
�� 
�	��� �� ������� "�� ���
�
����� 𝑘 ���	 𝑘′�

#��
� 
�� ��
��� ����
��
 𝑅 �� 𝑘𝑅𝑘′ �� 𝜈(𝑘, 𝑘′) ≤ min{2, 𝑁 − 1}�

� $�
 𝑘 ∼ 𝑘′ �� 
���� �� � ����
 �� �
�
�� 𝑘 = 𝑘1, 𝑘2, ..., 𝑘𝑛 = 𝑘′ ���� 
��
 𝑘𝑚𝑅𝑘𝑚+1 ��� ����

𝑚� % ��0���
� 	�������
 �� 𝐾 �� �
 ��������
�� ����� �� 
��� ����
��
�

6�
� 
��
 𝑅 �� �����
��	 ��
 ��
 ��	�������� 
�����
���� ��� ∼ �� 
�� 
�����
��� 	������ �
 𝑅

#���� 
�� �������
 
�����
��� �7
������ �
 𝑅'� 
��� �
 �� �� ���������	� ����
����

8
 𝐴,𝐵 ��� 
�� ���
��	
 ��0���
� 	�������
� �
 𝐾� 
��� 
�� ��	� 𝑘 ∈ 𝐴 ��� ��	� 𝑘′ �� 𝐵�

𝜈(𝑘, 𝑘′) ≥ 3� B
�������� 
���� ����� �7��
 � ���/ #
�� 
�� ����
��� 𝑅' ��
���� ���� ����
 �� 𝐴 ���

���� ����
 �� 𝐵� ��� 
��� � 	���� ���/��� ��� ����
 �� 𝐴 
� ��� ����
 �� 𝐵� 6�
� 
��
 
�� $�������

����� 
�� �
�
�� ������ 
� 
�� ���� ��0���
� 	�������
 ���� �
 
��� 	�� �� ���
��������� �� �


���
 ��� �������

��� �
��� �
 �����
�
��� ���������� 	�� �� ���� �� ��	� ��0���
� 	�������
 ������
���� M����

𝐴 ⊆ 𝐾� ��
 ℐ𝐴 ����
� 
�� ��
����
��� �
��	
��� �� 𝐴 ����	�� �� ℐ=

𝐼𝐴,𝑖(𝑘) = 𝐼𝑖(𝑘) ∩ 𝐴, ∀𝑖 ∈ 𝑁, ∀𝑘 ∈ 𝐴.

6�
� 
��
� �� �����
���� � .-; ����� 𝐾 ��� ℐ ���
 ����	� � .-; ����� 𝐴 ��� ℐ𝐴� 8
 𝐴 �� �

��0���
� 	�������
� 
�� ���	������ ����� 	�� �� ���������� �� 
�� 
�������� ������

����	 ��
 𝑉 ∗(𝑢, ℐ) ∕= ∅ �� ��� ���� 	�����
� ��	��
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 𝐴� 𝑉 ∗(𝑢, ℐ𝐴) ∕= ∅�
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���� #��� ���� @�����
 ��� ������� $%%A�'�

������� ��
 𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝒰 � �� �
� �
�� �� ��� 	�����
� ��	��
�

� ��� ��
���
�
��

��� ����
 �� �
�����

������ ��� 
������ 
�� 
������� ?�$� ��� ?�?� �� @�����
 ��� ������
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��� �� ��������� ���	���
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 ��� ��0���
� 	�������
� ��� ������
���� 
��� 
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��� �
�
� 𝑘 	�� �� ����
���� �� 
��
�
�� ������	����
�� H����
���� �����
���� ��� ������������

���� � 
������� ��� ������������ ��
����� ����� ��	
�� �� 
�� �������� �
�
� 𝑘 �� ��������
��� -��


�� ��	����
� ���
 �� ������� �� �7����� �� 
�� ���������
�� ��
����� #(������7 > '�

���� 	����
��� �� ��������� ���� ���������� ��
����� .-; ����
 ���� ���� �7��
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�
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�,��! �! ������� ��!! �$ ����	����" ���� 
��"�	! ���� ����� ��� 
�"�@4 B$ �� !�%� 	�!�	�%���� �! ��
�!�� ��
	���	�!� ���� �� �! ��!� ��%�!!�	" $�	 ��� ��
����!! �$ 𝑉 ∗4 ��	 �A��
��� �$ ��%� 
��"�	C! 	���	� $��%���� ��
���!
���" �� ��! ��� �%���� ��� �� ��� !����� ��� ��� �
����� �%���� �! ��� ��� !��� �� ��� !����! ���� �� 
��"�	
��!������!��!� ���� 
�+ �� ��� �A�!�4
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��� �����	
��� �� ������� � 	����
��� �� 
�� ��
����
��� �
��	
��� 
��
 �� ��	������ 
�

��
��� 𝑉 ∗(ℐ, 𝑢) ∕= ∅ �� ��� ����� �
 /�������� ������ ��� � ���	���
 	����
��� 
�� �������
������

��������� ��� &�� ��	� ��� /�������� ������ '()�* �� 
�� ��"��� ��
�
��
 �� ���� ������ 𝑖

����
�� �
�� �
 
�� ��
��
 ������ �
� �
 ��� 
���� &��
 ��� ��� ���� ��
��
 ������ 𝑎� �
� ����

���� �� �
�
�� 𝑘, 𝑘′�

𝐼𝑖(𝑘) = 𝐼𝑖(𝑘
′) =⇒ 𝑢𝑖(𝑘, 𝑎) = 𝑢𝑖(𝑘

′, 𝑎).

$�
 𝒮ℐ �� 
�� ��
 �� ()� ��"��� ��
�
��
� "��
 
�� �
���	�
��
 �
���
��� �� ℐ�

6�
� 
��
 
�� �����
��� �
 /�������� ����� ������� 
��

∩

𝑖∈𝑁 𝐼𝑖(𝑘) = {𝑘}� 8� 
���������
����� ��
� CB<� �7��
��	� ��
���� �������� ��
����
��� �� ���������� 
��
 ��� �������� ������ �

��� ���� ��
����
��� 
��� ������ $ #,������ �&&A'� ����� 	����
���� ��� ���� ��	������ �� 
���

������ �����=  !���� ��� "��� #$%%&' ��� C���� #�&&$' ������� �7������ �� ���	� �7��
��	� 
����

�
 ��
����
��� �� 
��������� B�� ����
 
��� �7��	
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��� �����
 ����
 ���������� 
� 𝑁�������

����� ��
� CB<�  ������� 
�� 
�������� �7����� ����� 
��
 ������ ��� 
���� ��
����� ������ ��

��
 ���	���
 
� ������ �7��
��	��

��	�� � ��� &���� ��� 
���� �
�
�� 𝑘, 𝑘′, 𝑘′′� &�� �
���	�
��
 �� ������ + �� 𝐼1(𝑘) = {𝑘, 𝑘′′}�
𝐼1(𝑘

′) = {𝑘′}� &�� �
���	�
��
 �� ������ , �� 𝐼2(𝑘) = {𝑘, 𝑘′}� 𝐼2(𝑘′′) = {𝑘′′}� ������ - .
�"� 
��
�
�
�� &�� ����� 	�
��� �� �� �����"��

𝐿 𝑅

𝑇 3, 1, 0 0, 0, 0

𝐵 0, 0, 0 1, 3, 0

�
�
� 𝑘

𝐿 𝑅

𝑇 3, 0, 3 0, 1, 3

𝐵 0, 0, 3 1, 1, 0

�
�
� 𝑘′′

𝐿 𝑅

𝑇 1, 1, 0 1, 0, 3

𝐵 0, 0, 3 0, 3, 3

�
�
� 𝑘′

$$
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��� ��	�� 𝑉 ∗ �� �	�
�� %���	� ��� 
�� ��.� �� ��

�����
��
 
��
 
���� �� � ���

 𝑣 �
 𝑉 ∗�

�
�������� ��
��
���
� �� ������� + �
� , �	��� 
��
 �
 �
�
� 𝑘′� 𝑇 �� ��"��� ������� �
� (𝑇,𝑅) ��

������ "�
� � '������

��* ������
�� 
� ����
�� 
��
 1/4� &�� ����� �� ������ - �
 �
�
� 𝑘′ �� 
���

𝑣𝑘
′

3 ≤ 3/4� /�	������� �
 �
�
� 𝑘′′� 𝑅 �� ��"��� ������� �
� (𝑇,𝑅) "�
� ������
�� 
� ����
�� 
��


1/4� &�� ����� �� ������ - �
 �
�
� 𝑘′′ �� 
��� 𝑣𝑘
′′

3 ≤ 3/4�

0�
����� 
�" 
�� �
��
���
�

 �����
� �
 "���� ������ + ����	� 
��
 
�� �
�
� �� 𝑘′� "���� ������

- ����	� 
��
 
�� �
�
� �� 𝑘� 0�

�
��
��
 ���� 	��
 1��
���2 ������ + �
 �
�
� 𝑘� �
� ������ - �


�
�
� 𝑘′� 3�
� 
��
� ��� ����� ��
��
 ������ 𝑎� 𝑢𝑘
1(𝑎) + 𝑢𝑘′

3 (𝑎) ≥ 3� 3�"� ����	� 
��
 
�� ����� ��

������ + �
 �
�
� 𝑘 �� ���� 
��
� 𝑣𝑘1 ≤ 11
16

3� �
 �����"� 
��


𝑣1𝑘 + 𝑣3𝑘′ ≤ 11

16
3 + 3/4 = 45/16 < 3.

&��� ��

�� �
������
� �� �	��������� !��	 𝐽𝑅� 
���� 	��
 ����
 � ���
����
��
 𝛼 �� ��
��
 �������

���� 
��
 𝑣𝑘1 ≥ 𝑢𝑘
1(𝛼) �
� 𝑣𝑘

′
3 ≥ 𝑢𝑘′

3 (𝛼) �
� 𝑢𝑘
1(𝛼) + 𝑢𝑘′

3 (𝛼) ≥ 3� 4� ��
����� 
��
 𝑣𝑘1 >
11
16

3� %

��	���� ����	�

 '��
������
� 
�� �
��
���
�

 �����
� �
 "���� ������ , ����	� 
��
 
�� �
�
� ��

𝑘′′ �
� ������ - ����	� 
��
 
�� �
�
� �� 𝑘* ������ 𝑣𝑘2 >
11
16

3� &��� 𝑣1𝑘 + 𝑣2𝑘 > 66/16 = 4 + 1/8� "����

�� �	��������� ��
�� 
� ��
��
 ������ �
 �
�
� 𝑘 ������ 𝑢𝑘
1 + 𝑢𝑘

2 > 4�
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���� �7��
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�� ���	� �� �� ��
 
�� ���
 ��
����� ������ #�
 �� ����

��'� �� 
���� �� � ��	��� ������ 𝑗 ∕= 𝑖 ��� �� �� ���� ��
����� �� ��� ������� ��
 𝑖 �
 
��
 �
�
�� 8�


��� ��

�� 	���� �� ���� 
��
 𝑉 ∗ �� ������
� �� ��� ����� ��
� CB<�

)��� 
�������� �� ��� 
��
 ������ 𝑖 ��� 	��� �
���	�
��
 
��
 ������ 𝑗 �
 ������ 𝑖 	�� ����	�

������ 𝑗+� 
��� 
��� ��� ��� 
���� ���� �
 ������ 𝑖+� ��
����
��� ���
�
��� �� ���� 
��� ������ 𝑗+�
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���
�
���= 𝐼𝑖(𝑘) ⊆ 𝐼𝑗(𝑘) 
�� ��	� 𝑘�

��������� ��! +� &�� �
���	�
��
 �
���
��� �� ��	���� ���/�� �������� '$4 * �� ��� ����

�
�
� 𝑘� 
���� ����
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��
 ������ 𝑖 ��� 	��� �
���	�
��
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�

�
��� ������� �
� ������ 𝑗 ��� 	��� �
���	�
��
 
��
 �
� ������ �
��� 
��
 𝑖� 3�
� 
��
 𝑖, 𝑗
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�� �
�
���

,� &�� �
���	�
��
 �
���
��� ��� 
�� �������
�
��
� ������
� �� 
���� ����
� � ���
�
��
 �� 𝐾�

𝐾 = ∪𝑖=1,...,𝑁𝐾𝑖 "�
� 𝐾𝑖 �������� �	�
�� ���� 
��
 ��� ���� 𝑖� 𝐼𝑖(𝑘) = {𝑘} �� 𝑘 ∈ 𝐾𝑖�

𝐼𝑖(𝑘) = 𝐾 ∖𝐾𝑖 �
���"����

�� ���� 
�� 
�������� �����
 #��	��� 
��
 �

��
��� �� ���
��	
��� ��
���
 ���� �
 ��������
�� 
�

� ������ 	�������
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������� ��" �� 𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝑆ℐ � 
��
 
�� �
���	�
��
 �
���
��� �� ������� "��.�� �	�

������� �� ��� 
�� �������
�
��
� ������
�� !��
���� �� 
�� �
���	�
��
 �
���
��� �� ������� "��.��

�	������� 
��
 𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝑆ℐ�

��� ����
 �� ��
��� �������� ��� �� ��
����� 
� (������7 .� 8� ����� 
� ����� ��	����
�� �� ��
������

� �
��	
���� �����
 �� ��
����
��� �
��	
���� ��
� � ������ ��0���
� 	�������
� ���� ����	�� 
��

������ �
 	�������
���� 
�� ���	� 	���
����7������ #�� ���	� 𝑉 ∗(ℐ, 𝑢) = ∅ 
�� ���� 𝑢 ∈ 𝒮ℐ'

���
 �� �������� �������� 
�� ��
����
��� �
��	
��� �� ���
��� "�; ��� ��� 
�� ���������
����

������
�� ��� ���	���	� ���
 ������ �� 
�� 
�������� ������

����	 ��# 0�
����� � 𝑁������� �
�
� ��	� "�
� ��
��
� ��
� 𝐴𝑖 �
� ����� ��
�
��
� 𝑢𝑖 �
�

��
 𝑢𝑖 = min𝛼−𝑖∈×𝑗 ∕=𝑖△𝐴𝑗
max𝑎𝑖∈𝐴𝑖

𝑢𝑖(𝑎𝑖, 𝛼−𝑖) �� ������� 𝑖5� �
�������� ��
��
���
� ������ &���� ����
�

�B� �! ��� ��D%��� �� %��%� ���� ��� 
��	 (𝑖, 𝑗) �! ��� !��� $�	 ��� !����! �� ��� !��� ��:�	��" %��
�����4
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∀𝑖 ∕= 1, ∀𝛼1, 𝑢𝑖(𝛼1, 𝛼
∗
−1) ≥ 𝑢𝑖

���� �
�
�� 
��
 𝑁 − 1 ������� 	�� ���� 	������
����� �� ����� 
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 ��� 	�
	�� ����� �
 ���� �
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∃𝜇𝑜 ∈ △𝐴, ∀𝑖 ∈ 𝑁, ∀𝑘 ∈ 𝐾, 𝑢𝑖(𝑘, 𝜇
𝑜) ≤ 𝑢𝑘

𝑖 ,
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"�
� 𝑢𝑘
𝑖 := min𝛼−𝑖∈

∏
𝑗 ∕=𝑖 △𝐴𝑗

max𝑎𝑖∈𝐴𝑖
𝑢𝑖(𝑘, 𝑎𝑖, 𝛼−𝑖)� $�
 ℬ �� 
�� ��
 �� ����� ��
�
��
� 
��
 ���� �

��� ��
��	��

-�� ��	� ������ 𝑖 ��� �
�
� 𝑘� ����
� �� 𝐼−𝑖(𝑘) := ∩𝑙 ∕=𝑖𝐼𝑙(𝑘) 
�� 	������� ��
����
��� �
 
��

�
��� ������� �
 𝑘� �� ��� 
��
 ������ 𝑖 �� ����

��� �
 𝑘 �
 𝐼−𝑖(𝑘) ∕= {𝑘}� ��� ��
����
��� �
��	
���
ℐ ��� �� �����
��� ������ �
� 
�� ��	� �
�
� 𝑘� �� ������ �� �����
��� �
 𝑘�

������� ���� 𝑉 ∗(𝐼, 𝑢) ∕= ∅� ∀𝑢 ∈ ℬ� �� �
� �
�� �� ℐ ��� 
� ����

��� �������
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�����
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�
� �� ����
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���� �� �� ��	�����
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�� �����
�� 8� 
��
 	���� 
�� ���

��
	��� �� ������ ���� ������ 
� ��
�� ��	� �����
����� D�
���� ��� �������� �� 
�� ���������
��

��
����� #(������7 D'�

��
�� �����������	���� 	�� *	� �&�����

(������� ��
� /��������������� ��� ��� ��
	��� ������ �7��
��	� 
�� � ������� ��
 �


��
����
��� �
��	
�����

������� ���
 𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝒮ℐ ∩ ℬ� �� �
� �
�� �� ℐ ��� �
 	��
 �
� ����

��� ������ �


���� �
�
��

��� ����
 �
 
��� �����
 	�� �� 
���� �� 
�� ���������
 �� ��
����� #(������7 ;'�

��� ����
���� ��� �		 
������
��� "
���
����

B�� ��0�	
��� �� 
� ��� 	����
���� �� 
�� ������ 
��	
��� 𝑢 ��	� 
��
 𝑉 ∗ �� �������
� �����

������
�� �
 
�� ��
����
��� �
��	
���� 6�
� ���
 
��
 𝑉 ∗(ℐ, 𝑢) �� �������
� 
�� ��� ��
����
���

�
��	
��� ℐ ∈ 𝒴 �
 ��� ���� �
 𝑉 ∗(ℐ, 𝑢) �� �������
� 
�� 
�� 	������ ��
����
��� �
��	
��� ℐ� ����

$1




�� 𝐼𝑖(𝑘) = 𝐾 
�� ��� 𝑖 ∈ 𝑁 ��� ��� 𝑘 ∈ 𝐾� 6�	����
� �� 
������� ,��	���	� 
������ 
��� ��� �������

�������
��� 
��
� 
�� ��� ���� �
 	��������� ��
����
��� �
��	
���� ℐ ��� ℐ ′� ��
� ℐ ′ ���� 
���

ℐ #����� ℐ ′
𝑖 ���� 
��� ℐ𝑖 
�� ��� 𝑖'� �
 𝑉

∗(ℐ, 𝑢) �� �������
�� 
��� 𝑉 ∗(ℐ ′, 𝑢) �� ���� �������
�� "�


𝜑𝑖(𝑞) := min
𝛼−𝑖∈

∏
𝑗 ∕=𝑖 △𝐴𝑗

max
𝑎𝑖∈𝐴𝑖

∑
𝑘∈𝐾

𝑞(𝑘)𝑢𝑖(𝑘, 𝛼−𝑖, 𝑎𝑖).

+���������� ���
 &�� ��
 𝑉 ∗(ℐ, 𝑢) �� 
�
��	�
� ��� ��� ℐ �� �
� �
�� �� 
���� ����
� � ���
����
��

���� ��
��
 ������ 𝜇∗ ∈ △𝐴 ���� 
��
� ��� ���� 𝑖 ∈ 𝑁 �

∀𝑞 ∈ △𝐾 :
∑

𝑘∈𝐾
𝑞(𝑘)𝑢𝑖(𝑘, 𝜇

∗) ≥ 𝜑𝑖(𝑞).

������ 8
 �� ���	���
 
� ���� 
��
 ���� ℐ ��
����� 𝐼𝑖(𝑘) = 𝐾 
�� ��� 𝑖 ∈ 𝑁 ��� ��� 𝑘 ∈ 𝐾�


��� 
�� 	����
���� �
 
�� �������
��� ��� ��	������ ��� ���	���
 
�� 𝑉 ∗(ℐ, 𝑢) ∕= ∅� ,��	���	�=

>������� 
�� ����� ��	
�� 𝑣∗ ��
����� �� ��������
��� 
�� ���
����
��� 𝜇∗ ����������
�� �
 
��

�
�
�� ���� ����� �� 	������ 8> ��� N@ ���	� �
 �� �	������ ����� � �
��
��� 
��
 �� ����������


�
 
�� �
�
�� ���� ����� ��	
�� ��
����� 8@ ���	� 
�� 	����
��� �� 𝜇∗ �
�
�� 
��
 �� ������ 𝑖 ��

�� �
�
� 𝑘 	�� ������
�� ���� 
��� 𝑣𝑘∗𝑖 ���� 
�� �
��� ������� ��� 
�� .��	/���� ���������


�
��
��� 	������������ 
� � ��
��
��� �� ���	� ������ 𝑖 /���� 
�� �
�
� ��� 
�� �
��� ������� ��

��
� 6�	����
�= ��
� ���
 
��
 
�� ����������� ���� ���
 �� ����������
 �
 
�� �
�
� ��	���� �



��������
� 	����
��� $� ,�	���� ������� 
��
 
���� �7��
� �� 𝜇∗ ��
��
���� 
�� 	����
��� �
 
��

�������
���� 8� �
��� ����� 
�� ��	� 𝜇 ∈ △𝐴 
���� �7��
� � ������ 𝑖 ��� 𝑞𝜇 ∈ △𝐾 ��	� 
��


∑
𝑘∈𝐾

𝑞𝜇(𝑘)𝑢𝑖(𝑘, 𝜇) < 𝜑𝑖(𝑞
𝜇).
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���� ������� 
��
 
�� ��� 	������
� ����������� ����� �	������ ��
� ���� ���
����
��� ���� �	
���

������� 𝜇 
��
 �� ����������
 �
 
�� �
�
�� 
���� �7��
� � ������ 𝑖 
��
 ���� �
 ����
���� 
� �����
�

�� ���� �
�
�� □

��� 	����
��� �
 �������
��� *��? �� 
�������� ��
����� ���� �
 �� �������� 
� ��� � �������

����������� ���
����
��� 𝜇∗ ��� � ���������
 �
��
��� 
��
 �� ����������
 �
 
�� �
�
�� ���� ��


�� 	���� 
�� ���
��	�� �� ���
 ��	
��� 
����
� ��� ��������� ����� #
�/� � ���� ���� ��� � ����

��� ���	�� �� ����
�
�'�

���� 
�	����� �� ���� ��
����
��� �
��	
���� �� ���	� ������� ���� ������������
� 
�����

���������
 �
��
����� ���
������ �� ����������� 	�� ������ �� 
����� ����� ��� ���� �������

������
��� �
 
�� ������ 
��	
���� �������� �7��
��	�� �
 ��� ����� �� 
�� ����������
 
��
 �7��
��	�

��
���� 
�� ��� ��
����
��� �
��	
����� <������
��� *��A �������� � ���
�� 	��
������ ���	� �� 
��

𝑁������� 	���
�����
 �
 	����
��� A ��  !���� ��� "��� #$%%&'� "�
 𝐷̂ �� 
�� ��
 �
 
��� �������


��
 ��� 	�����
��
 ��
� ���� �
�
� �

�� ����
��� �
 ���� ������+� 
���� ���
 ���

𝐷̂ := {𝜃 ∈
∏

𝑖∈𝑁
Θ𝑖 : ∃𝑖 ∈ 𝑁, 𝜅(𝜃−𝑖) ∕= ∅}.

��� 
�������� 	����
��� ������
��� 
��
 𝑉 ∗ �� �������
��

+���������� ���� �� 
���� ����
� � ���
����
��
 ���� ��
��
 ������ 𝜇∗ ∈ △𝐴� �
� ��� ��� 𝜃 ∈ 𝐷̂��

������ 𝜇𝜃 ∈ △𝐴 ���� 
��
 ��� ��� 𝑖� 𝑘 ∈ 𝜅(𝜃−𝑖)�

max
𝑎𝑖∈𝐴𝑖

𝑢𝑖(𝑘, 𝑎𝑖, 𝜇
𝜃
−𝑖) ≤ 𝑢𝑖(𝑘, 𝜇

∗),


��
 𝑉 ∗ �� 
�
��	�
��
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������ 8
 �� ���	���
 
� ���� 
��
 𝑣 := (𝑢𝑖(𝑘, 𝜇
∗))𝑖∈𝑁,𝑘∈𝐾 �� �� 𝑉

∗� 8>= ��� ����� ��	
�� 𝑣 	�� ��

�	������ �� ��������
��� 
�� �		���
��� ������� 𝜇∗ �������	
��� �
 
�� ������	����
�� ���	� �


�� ��	��
��� 	����
����� 8@ ��� N@= 
�� 	����
��� �� 𝜇𝜃 ������� 
��
 ���� 
�� ���
����
��� ����

�	
��� ������ 𝜇𝜃 �� ��������
��� �� ��� �������� �
�
�� � ������ 	����
 ���� ���� 
��� 𝑣 ���� �
 ��

�����
������ �����
�� �� ��/�� � �����
 ������� 
� �� ��	�����
��
 �����
 ������� ����� 𝜇𝜃 	�� ��

���� 
� ��
�� �����
���� �����
���� �� ��������
�� ������
����� 
��
 𝑣 �� ������������ ��� 0���
��

��
������ □

� �������	��


8
 
������ 
��� 
�� �������� ��	
��� 
��
 𝑉 ∗ �� �������
� ���� ������� /��� 
���� ��� �������

��� 
�� ��	�����
� ��
����
��� 	��	���� ��� ������+� ����� ����� �� 
��
 
�� ������ �
 ��� �������

��
 ��� ��� 	������� /����� -�������� 
�� ����� ������ 𝑖� 𝑢𝑖(𝑘, ⋅) = 𝑢𝑖(𝜃𝑖, ⋅)� ��� 
�� ��� 𝑖 ∕= 1�

∣Θ𝑖∣ = 1� ���� ����������
 ��
� ��������� ��	�����
� ��
����
��� �� 
�� 
�	�� �
 � ����� ��
���
���

�� 9����
�
�����: �
��
��� ��
� -�������� ��� "����� #�&4&'� ��� �� ������� 
��������
 
���

��	
���� ����� 
���� �7��
� � ����� ��
���
��� �� ����
�
��� �� 
��������� ������ -�������� ���

C���� #�&42' ��� M���� #$%%2' ���� 
� 
�� ���
 �
 ��� /��������� 
�� ���� �
��� ������ 	����������

����
�
���� ���� 
�� ��
����� ������ 
�	�� ���
���� �������
�� 8�  !���� ��� "��� #$%%&'� �


��� ����� ��� �����
� �� 8������ #�&&&' 
�� 
�� ��
 �
 �����	���
�� 6��� ����������� ������ ��


��������� ����� ��
� ��	� ��
����
��� �
��	
���� 	���� �� ������� ��
� ������ ��� 	����� 
�


�� ��
 �
 �����
�
��� ����������� ������ �� 
�� ���	���
 
�	
�� 
���� 
� ���� 8� 
��� ��	
���� 
��

����������
��� �
 
���� �����
� 
� 𝑁 ������� �� ������
��� <���
� ��� ����������
���� �
 
���� ��

8�������

-�7 ��� #�����' 
��� �
 ������ �� 
�� ��
��
�� 
���� ��� ������� �
 
��� ��	
��� �� 
� ����
�
�

$&



��� ��	� 
�� ��
����� 
��� �� ������
��� 
� ��
 �� ������������ �� 
�� ���	���
 
�	
�� 
���� 
�

���� �� � 
��	
��� �
 ��� �
��� �������� ����� 
����� ��� ��
����� 
���+� ������ �� ����
�� 𝑢1�

����� ��� �
��� �������� ����� 
���� ��� ����
�� 𝑢𝑘
1� 𝑘 = 2, . . . , 𝐾� �� �7 
��������
 
�� ������


��	
���� (𝑢2, . . . , 𝑢𝑁) �
 ������� 𝑖 = 2, . . . , 𝑁 � M���� ���� ������ 
��	
��� 𝑢𝑘
1� 𝑢𝑖� ��
 𝑢

𝑘
1� 𝑢𝑖 ����
�


�� 	������������ �����7 ������ val 𝑢𝑘
1 ��� val 𝑢𝑖�

M���� ��� ��	
�� 𝑢𝐾 := (𝑢21, . . . , 𝑢
𝐾
1 ) ��	� 
��
 𝑉 ∗ �� �������
�� ��
 𝑣1(𝑢𝐾) �� 
�� ������

�
 
�� ����� �
 ������ �+� ��
����� 
��� ���� 𝑉 ∗� �� ����� 
�� ����
�
��
 ����� �
 ������ �+�

��
����� 
��� ��

𝑢∗1 := sup
{𝑢𝐾 :𝐾≥2}

𝑣1(𝑢
𝐾).

B������ 
��
 
�� ��
����� 
���+� ����������� ����� ���
 �� �
 ����
 ����� 
�

min
𝜇∈△𝐴

𝑢1(𝜇) ��	� 
��
 𝑢𝑘
1(𝜇) ≥ 𝑢𝑘

1, 𝑢𝑖(𝜇) ≥ 𝑢𝑖, ∀𝑖, 𝑘 ≥ 2.

8������ �
 
�� �
�
� �� 𝑘� 
�� ���� ���	���� �� 
�� ����������� �
��
����� ���
 �� �� �����������

�
 
�� ���� ��
� 	�����
� ��
����
��� �� �
�
� 𝑘� ��� 
����
��� 
��� ���� ���
 �� ��	� 
��
 ���

������� ��
 �
 ����
 
���� �����7 ����� �� 
��
 �
�
�� ,��	� ������ �+� ��
����� 
��� 	�� ������


����� 
�� �
��
��� �
 ������ �+� 
��� 𝑘� �� ���
 ��	���� �
 ����
 �� ��	� �� �� ����� ��
 
���


�������� 
��� ����� �����
���� �
 ���
 �� 
��


𝑢∗1 ≥ sup
{𝑢𝐾 :𝐾≥2}

{
min
𝜇∈△𝐴

𝑢1(𝜇) : 𝑢𝑘
1(𝜇) ≥ 𝑢𝑘

1, 𝑢𝑖(𝜇) ≥ 𝑢𝑖, ∀𝑖, 𝑘 ≥ 2

}
.

-�	����� �� 𝐾 = 2� 
�� ���� ������� ��

sup
𝑢2
1

max
{𝑝𝑖≥0:𝑖=1,...,𝑁}

𝑝1𝑢
2
1 +

∑𝑁

𝑖=2
𝑝𝑖𝑢𝑖 ��	� 
��
 𝑝1𝑢

2
1 +

∑𝑁

𝑖=2
𝑝𝑖𝑢𝑖 ≤ 𝑢1.

?%



,��	� 
�� 	���
����
 ���
 ����� 
�� ����
�
��� ����� �� �
 ����


sup
{𝑝𝑖≥0:𝑖=2,...,𝑁}

val (𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖 − 𝑢𝑖1)),

����� 1 �� � ��	
�� �� ℝ∣𝐴∣ ��
� ��� ��
���� ����� 
� ���� 6�
� 
��
 
��� ����� ����� �� ������ ������


��� 𝑢1 #
�/� (𝑝2, . . . , 𝑝𝑁) = 0'� ��� 
�������� 
������ ����� 
��
 
��� ����� ����� �� �	
�����

�	������� ��� �������� �� ��
����
��� 	����	
�����
��� �
 �
� ��� ����
 �
 �
 	�� �� 
���� �� 
��

���������
�� ��
����� #(������7 -'�

������� !�� &�� ����
�
��
 ����� �� ����� 
�

𝑢∗1 = sup
{𝑝𝑖≥0:𝑖=2,...,𝑁}

val (𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖 − 𝑢𝑖1)) = sup

𝛼1∈△𝐴1

min
𝛼−1∈𝑌 (𝛼1)

𝑢1(𝛼1, 𝛼−1),

"���� 𝑌 (𝛼1) := {𝛼−1 ∈ △𝐴−1 : 𝑢𝑖(𝛼1, 𝛼−1) ≥ 𝑢𝑖, ∀𝑖 = 2, . . . , 𝑁}� &�� ����
�
��
 ����� ��

�������� �� 𝐾 = 𝑁 �
� 𝑢𝑘
1 = −𝑢𝑘� ∀𝑘 = 2, . . . , 𝑁 �

𝑢∗1 = 𝑣1(−𝑢2, . . . ,−𝑢𝑁).�

(� �� 	���� 
��� 
�� ��
����
��� 	����	
�����
���� 
�� ����
�
��� ����� �� ����� 
��� 
�� �����

/
��.������ �����

sup
𝛼1∈△𝐴1

min
𝛼−1∈𝐵(𝛼1)

𝑢1(𝛼1, 𝛼−1),

����� 𝐵(𝛼1) �� 
�� ��
 �
 6��� ���������� �� 
�� �������
 ���� ��
���� ������� 𝑖 = 2, . . . , 𝑁 � �����

𝛼1� ( /
��.������ �����
�� �� ��� ������	� {𝑎𝑛1}𝑛∈ℕ �	������� 
�� ���������
�6��� ���� -�	� !�� ����! ������� ��� ����	��	��" �!!��
����4 0�����	� �! �� 0E	��	 ��� ���� >'(()� ������

�

����A?� �� �! !�	�����$�	��	� �� �

	��%� ���! 	�
������� 
�"�@ �" %��!���	��� 
�"�@ ���	�%�! !���!$"��� ���
����	��	��" �!!��
����� ���%� �	� �	���	�	��" %��!� �� ��� -�	� !�� ����4
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( ���� ��� ��
6��
�
� �

����
 �
� 
�� ���� ,
�	/������ ������	� {𝑎𝑛1}𝑛∈ℕ� ��� 6��� ����������
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��	� ������ �	
���� ��� ��
������� �� 
�� ��
	��� �
 
�� �����	

���������
��� ����	�� >������� ����
��	� ����� 𝐸𝜃 (𝜀)� @�	��� 
��
 𝜅 (𝜃) = ∅� �� ���
�������


�� 	�����

?&



�� 𝜃 ∈ 𝐷= �� �����
���� 
���� �7��
 � ��
 Ω𝜃 �
 ������� ��� 
���� (𝑖, 𝜃
′
𝑖) ��	� 
��
 𝜅

(
𝜃
′
𝑖, 𝜃−𝑖

) ∕= ∅�

(	
��� ������� ��� ����	
�� �		������ 
� � ���������
� ���
����
��� 𝜇𝜃 (𝜀) �� ��	� � ��� 
��


𝑢𝑖(𝑘, 𝜇𝜃 (𝜀)) < 𝑣𝑘𝑖 + 𝜀𝑖 #?'


�� ��� (𝑖, 𝜃
′
𝑖) ∈ Ω𝜃� 𝑘 ∈ 𝜅

(
𝜃
′
𝑖, 𝜃−𝑖

)
��� ��� 𝜀𝑖 ∈ [−𝜀, 𝜀]� ,�	� � ���
����
��� �7��
� 
�� ���	���
��

����� 𝜀 > 0 ����� 
��
 𝑣 ∈ int 𝑉 ∗ ��
����� #N@' ��
� �
��	
 ��������
��

$� 𝜃 /∈ 𝐷 #����� �
 ����
 
�� ������� ��������
��'= <������ ��� ���� �7��� ��
 ����
���� �	
���

������ 𝑎 := {𝑎𝑖}𝑁𝑖=1 ∈ 𝐴�

(
 
�� ��� �
 � ����
��	� ������ ��� ������� 
��
�
���� �����
 
���� 
�����

#���' ��
���	�

 �����= ( ���������
 ����� ���
� 𝑇 �������� 8� 𝑃 𝜃−𝑖� ������� −𝑖 ��� 𝑠𝜃−𝑖

−𝑖 �

-�� ���� �	
��� 𝑎𝑖 ∈ 𝐴𝑖� ��
 𝑠
𝑎𝑖
𝑖 ����
� 
�� �
��
��� �
 ������� 𝑎𝑖 �

�� ��� ���
����� ��
��� 
��

���������
 ������� <����� 𝑖 ����� 𝑠
𝑎𝑖
𝑖 
��������
 
�� ������

�� ��	/ 𝑇 ∈ ℕ, 𝛿 < 1 ��� 𝜀 > 0 ��	� 
��
� 
�� ��� 𝛿 > 𝛿 ��� ��� 𝑘 ∈ 𝜅 (𝜃−𝑖)� ������ 𝑖+� �������

���	���
�� ����� ���� 
�� 𝑇 ������� �� �� ������ 
��� 𝑣𝑘𝑖 − 2𝜀� ���� �� �������� ���	� 𝑣 ��
�����

#8@' ��
� �
��	
 ��������
��

(
 
�� ��� �
 ��	� ������ �
 � ���������
 ������ ��� ������� 
��
�
���� �����
 
���� 
�����

/����	 ��	��

(�� ������� 
��
�
���� �����
 
���� 
���� �
 
�� ��������� �
 
�� ����� M���� �����
 ������ 𝜃�


�� ���
��� ����� �� 𝑅𝜃(0)�

�,� ����� ���	���%��� ���������� ��������� �� ���� �!�� ��	� ��� !��� �������� >�4�4� 𝑎𝑖? ���� �� ��� �$ ���
!
�%�=%�����! $�	 ��� 
������%� 
��!�4 B� �! �		������� ������	 ���!� �	� ��� !��� �%����! �	 ���4

A%



��	��������

#�' !��	 � ������� ����� 𝑅𝜃 (𝜀)� "�
 𝑎 ����
� 
�� #����' �	
��� ������ ��
������� �� 
��

�����	 ���������
��� ����	�� 𝑎′ 
�� �������� �	
��� ������� ��� 𝜃′ 
�� �����
 �
 
���� �
 
�� ���

�
 
�� ������

�� #H����
���� �����
���' 𝑎′𝑖 ∕= 𝑎𝑖 
�� ���� 𝑖 ∈ 𝑁 ��� 𝑎′−𝑖 = 𝑎−𝑖=

#�' 𝜅(𝜃′−𝑖) ∕= ∅= 
�� ��7
 ����� �� 𝑃 𝜃′−𝑖5

#�' 𝜅(𝜃′−𝑖) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′)� ����� 𝜀′𝑗 = −𝜀 �
 (𝑗, 𝜃′′𝑗 ) ∈ Ω𝜃′ 
�� ���� 𝜃
′′
𝑗 ∈ Θ𝑗 �

��� 𝜀′𝑗 = 𝜀𝑗 �
��������

$� #)��
���
���� �����
����� �� �� �����
���' 𝑎′𝑖 ∕= 𝑎𝑖 
�� ���� 𝑖 ∈ 𝑁 ��� 𝑎′−𝑖 ∕= 𝑎−𝑖� �� 𝑎
′ = 𝑎=

#�' 𝜅(𝜃′) ∕= ∅=

�� 𝜃′ = (𝜃−𝑖, 𝜃
′
𝑖) 
�� ���� 𝑖 ∈ 𝑁 ��� 𝜃′𝑖 ∕= 𝜃𝑖= 
�� ��7
 ����� �� 𝑅

𝜃′(−𝜀, 𝜀−𝑖)5

��� �
�������� 
�� ��7
 ����� �� 𝑅𝜃(𝜀)5

#�' 𝜅(𝜃′) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′)� ����� 𝜀′𝑖 = −𝜀 �
 (𝑖, 𝜃′′𝑖 ) ∈ Ω𝜃′ 
�� ���� 𝜃
′′
𝑖 ∈ Θ𝑖�

��� 𝜀′𝑖 = 𝜀𝑖 �
��������

#��' !��	 � ��
�
�
�� ����� 𝐸𝜃 (𝜀)= "�
 𝑎 ����
� 
�� #����' �	
��� ������ ��
������� �� 
��

�����	 ���������
��� ����	�� 𝑎′ 
�� �������� �	
��� ������� ��� 𝜃′ 
�� �����
 �
 
���� �
 
�� ���

�
 
�� ������

�� #H����
���� �����
����' 𝑎′𝑖 ∕= 𝑎𝑖 
�� ���� 𝑖 ∈ 𝑁 ��� 𝑎′−𝑖 = 𝑎−𝑖=

#�' 𝜅(𝜃′−𝑖) ∕= ∅= 
�� ��7
 ����� �� 𝑃 𝜃′−𝑖5

A�



#�' 𝜅(𝜃′−𝑖) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′)� ����� 𝜀′𝑗 = −𝜀 �
 (𝑗, 𝜃′′𝑗 ) ∈ Ω𝜃′ 
�� ���� 𝜃
′′
𝑗 ∈ Θ𝑗 �

��� 𝜀′𝑗 = 𝜀𝑗 �
��������

$� #)��
���
���� �����
����� �� �� �����
���' 𝑎′𝑖 ∕= 𝑎𝑖 
�� ���� 𝑖 ∈ 𝑁 ��� 𝑎′−𝑖 ∕= 𝑎−𝑖� �� 𝑎
′ = 𝑎=

#�' 𝜅(𝜃′) ∕= ∅= 
�� ��7
 ����� �� 𝑅𝜃(𝜀)5

#�' 𝜅(𝜃′) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′)� ����� 𝜀′𝑖 = −𝜀 �
 (𝑖, 𝜃′′𝑖 ) ∈ Ω𝜃′ 
�� ���� 𝜃
′′
𝑖 ∈ Θ𝑖�

��� 𝜀′𝑖 = 𝜀𝑖 �
��������

#���' !��	 � ��
���	�

 ����� 𝑃 𝜃−𝑖= ��� ���������
 ����� ���
� 𝑇 �������� "�
 ℎ𝑇 ����
� ��

����
���� ���
��� �
 ����
� 𝑇 � "�
 𝜃′ ����
� 
�� �����
�� 
��� ������ �� 
�� 𝑇 �
� ������� ����

�� #�' 𝜅(𝜃′) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′)� ����� 𝜀′𝑖 = −𝜀 �
 (𝑖, 𝜃′′𝑖 ) ∈ Ω𝜃′ 
�� ���� 𝜃
′′
𝑖 ∈ Θ𝑖�

��� 𝜀′𝑖 = 𝜀𝑖 �
�������5

#�' 𝜅(𝜃′) ∕= ∅= 
�� ��7
 ����� �� 𝑅𝜃′(𝜀𝑖(ℎ;𝑃 𝜃−𝑖), 𝜀−𝑖(ℎ;𝑃 𝜃−𝑖))� ��
� 𝜀𝑗(ℎ;𝑃 𝜃−𝑖) ∈ [−𝜀, 𝜀]� ���
𝑗� ��� ������ 𝜀𝑗(ℎ;𝑃 𝜃−𝑖) ��� ��	� 
��
=

#A' 
�� ��� 𝑘 ∈ 𝜅 (𝜃′)� ��� 	����
����� �� ��� ���
��� ℎ ∈ 𝐻𝑇 � ������� 𝑠
𝑎𝑖
𝑖 �� 
�� �������

���
 ����� �� �� ��
���� 	��
����
��� �
��
��� 
�� ������ 𝑖� ����� 𝑠
𝜃−𝑖

−𝑖 5 
��
���� �


𝜃′−𝑖 = 𝜃−𝑖� ������ 𝑖+� �7��	
�� ������ ������
�� �
 
�� ��������� �
 
�� ���������


������ 
��� ������� 𝑠
𝑎𝑖
𝑖 ����� 𝑠

𝜃−𝑖

−𝑖 #��� ����� 
��
 𝜃
′ �� 
��
�
���� �����
��'� �� �����


�
(
1 − 𝛿𝑇

)
(𝑣𝑘𝑖 − 2𝜀) + 𝛿𝑇

(
𝑣𝑘𝑖 − 𝜀

)
� 
�� ��� 𝑘 ∈ 𝜅 (𝜃′)� ���
 
��� �� �������� 
������


��� ��������
� #1' ������

#*' 
�� ��� 𝑘 ∈ 𝜅 (𝜃′)� ��� 	����
����� �� ��� ���
��� ℎ ∈ 𝐻𝑇 � ������� 𝑠
𝜃−𝑖

𝑗 �� �� ��
����

	��
����
��� �
��
��� 
�� ������ 𝑗 ∕= 𝑖� ����� (𝑠
𝑎𝑖
𝑖 , (𝑠

𝜃−𝑖

𝑗′ )𝑗′ ∕=𝑗)5 8� ����
��� 𝜀𝑗
(⋅;𝑃 𝜃−𝑖

)

A$



�� �� [𝜀/3, 𝜀] �
 𝜃′𝑗 = 𝜃𝑗 � ��� �
 �� �� [−𝜀,−𝜀/3] �
������� #��	��� 
��
 ℎ ���	���� 𝜃′'�

���
 
��� �� �������� 
������ 
��� ��������
� #1' ������

8
 �� 	���� 
��
 
���� �
��
����� �� ��
 ������ �� �������+ �����
�� ��
 ���� �� ���
 ���
����

0����	 ��� 1�����	����

M���� 𝑣 ∈ int 𝑉 ∗� �� ��� ��	/ 𝜀 > 0 ����� 
� ������ 
��
 
�� ���������
� ���
����
���� ���


����	�� ����� �7��
� ��� 𝛿� ��� 𝑇 ��	� 
��
 
�� ����� �
 � �������� ������ �� ��� ������� ��

���	���� ����� 
�� 
�� ���������
 ����� #��� T(	
���� ��� )�������+'� 8� ����
���� �� 
�/� 
����

������ 
� ��
��
�

− (
1 − 𝛿𝑇

)
𝑀 + 𝛿𝑇

(
𝑣𝑘𝑗 + 𝜀/3

)
>

(
1 − 𝛿𝑇

)
𝑀 + 𝛿𝑇

(
𝑣𝑘𝑗 − 𝜀/3

)
, #1'

− (1 − 𝛿)𝑀 + 𝛿
(
𝑣𝑘𝑗 − 𝜀

)
> (1 − 𝛿)𝑀 + 𝛿

((
1 − 𝛿𝑇

)
(𝑣𝑘𝑗 − 2𝜀) + 𝛿𝑇

(
𝑣𝑘𝑗 − 𝜀

))
. #2'

M���� 𝑣 ��� 𝜀 > 0� 
���� ��� ��� ��
����� �� 𝛿𝑇 → 1 ��� 𝑇 → ∞� �� 
��� ��� ���� ��
����� 
��
������ �
 𝑇 ��� 𝛿 
��
 ��� ����� ������� 8�������
� #1' ������
��� 
��
 � �����
��� �
 2𝜀/3 ��

	��
����
��� ������ �
 
�� ��� �
 � ���������
 ����� ������
�� ��� �����O������ 
��
 	���� ��

��	����� ������ ��	� � ������ 8�������
� #2' ������
��� 
��
 
�� ���������
 ����� �� ���� ������


� ��
�� �����
���� �� �	
����

2�.& 	� +�	��� 𝑅𝜃 (𝜀) �
� ��
�
�
�� ������ 𝐸𝜃 (𝜀)= "�
 𝑎 ����
� 
�� #����' �	
��� ������

��
������� �� 
�� �����	 ���������
��� ����	�� 𝑎′ 
�� �������� �	
��� ������� ��� 𝜃′ 
�� �����
 �



���� �
 
�� ��� �
 
�� ������

%�
��
�= ,������ 
��
 𝑎′ = (𝑎−𝑖, 𝑎
′
𝑖) 
�� ���� 𝑖 ��� 𝑎

′
𝑖 ∕= 𝑎𝑖� ����� ������ 𝑖 �����
������ �����
��


��� 
�� ����	����� �	
��� ������� ����� �������� ������� −𝑖 
��
�
���� �����
� 
�� ���������


A?



����� 𝑃 𝜃′−𝑖 �
��
�� ��� ��7���� 
��
 ������ 𝑖 	�� ��
��� �� �����
��� �� 
�� ����
����� ���� �


#2'� ����� �� 	��
������ 
� 
�� ����	����� �	
��� �� ��
� �
 ����
 �� ��	� �� 
�� ��

����� ���� �


#2'�

9�������= ��
 𝜃𝑖 �� ������ 𝑖+� 
���� �� ���
������� 
�� 	�����

�� ;�
��� �� �� ���� 
��� ��� ������ �����
�� �� �	
���=

8
 ������ 𝑖 �����
� 
��
�
����� �� ��
� �
 ����
 𝑣𝑘𝑖 − 𝜀� ����� 𝑘 ∈ 𝜅 (𝜃′)� 8
 �� ��������
�� ��


��
��� ���
������� 
�� 	����=

#�' 𝜅 (𝜃′) = ∅= �������� 
�� �
��� ������� �����
 
��
�
����� 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′) ��
�

𝜀′𝑖 = −𝜀� ,� ������ 𝑖+� ����� �� �
 ���
 max𝜃′𝑖 ∕=𝜃𝑖 (1 − 𝛿) 𝑢𝑖(𝑘, 𝜇𝜃′𝑖,𝜃
′
−𝑖

(𝜀)) + 𝛿
(
𝑣𝑘𝑖 − 𝜀

)
�

���	� �� ���� 
��� 𝑣𝑘𝑖 − 𝜀� ��	���� �
 #?'�

#�' 𝜅 (𝜃′) ∕= ∅= <����� 𝑖 ��
� �
 ���
 max𝜃′𝑖 ∕=𝜃𝑖 (1 − 𝛿)𝑢𝑖

(
𝑘, 𝜇𝜃′𝑖,𝜃

′
−𝑖

(𝜀)
)

+ 𝛿
(
𝑣𝑘𝑖 − 𝜀

)
� ���	�

�� ���� 
���
(
𝑣𝑘𝑖 − 𝜀

)
� ��	���� �
 #$'�

$� 𝑎′ = (𝑎−𝑗, 𝑎
′
𝑗) 
�� ���� 𝑗 ��� 𝑎

′
𝑗 ∕= 𝑎𝑗 #����� ������ 𝑗 �����
�� �� �	
���'=

<����� 𝑗+� �����
 �� ���������
 ��� �� 	�� �� ���� �����
 
��
�
�����

8
 ������ 𝑖 ∕= 𝑗 �����
� 
��
�
���� ��� 
���� �� ��
� �
 ����
 − (
1 − 𝛿𝑇

)
𝑀 + 𝛿𝑇

(
𝑣𝑘𝑖 + 𝜀/3

)
� 8


�� ��������
�� 
���� ��� 
�� 	����=

#�' 𝜅 (𝜃′) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′) ��
� 𝜀′𝑖 = −𝜀� �� ��� ����� �� ������� 
���
(1 − 𝛿)𝑀+𝛿

(
𝑣𝑘𝑖 − 𝜀

)
<

(
1 − 𝛿𝑇

)
𝑀+𝛿𝑇

(
𝑣𝑘𝑖 − 𝜀/3

)
� ���	� �� ���� 
��� − (

1 − 𝛿𝑇
)
𝑀+

𝛿𝑇
(
𝑣𝑘𝑗 + 𝜀/3

)
��	���� �
 #1'�

#�' 𝜅 (𝜃′𝑖, 𝜃−𝑖) ∕= ∅= <����� 𝑖 ��
� �
 ���

(
1 − 𝛿𝑇

)
𝑀 + 𝛿𝑇

(
𝑣𝑘𝑖 − 𝜀/3

)
#�������� �� �����
�


��
�
���� �
 
�� ���'� ���	� �� ���� 
��� − (
1 − 𝛿𝑇

)
𝑀 + 𝛿𝑇

(
𝑣𝑘𝑖 + 𝜀/3

)
��	���� �
 #1'�
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+&�������� ��	�� 𝑃 𝜃−𝑖= "�
 𝜃′ ����
� 
�� �����
�� 
��� ������ �� 
�� 𝑇 �
� �������

%�
��
�= �� 	������� ���
 ������ 𝑖� 
��� <����� 𝑗 ∕= 𝑖�

�� <����� 𝑖= �� ���
������ ��������
� #1' ������
��� 
��
 �� 	�� ���	�
� 𝜀𝑖
(
ℎ;𝑃 𝜃−𝑖

)
��	� 
��


𝑠
𝑎𝑖
𝑖 �� ��
���� �

�� ����� ���
��� �� 
�� ���������
 ������ ����� 𝑠

𝜃−𝑖

𝑗 ∕=𝑖�

$� <����� 𝑗 ∕= 𝑖= ���������� ��������
� #1' ������
��� 
��
 �� 	�� ���	�
� 𝜀𝑗
(
ℎ;𝑃 𝜃−𝑖

)
��	� 
��


𝑠
𝜃−𝑖

𝑗 �� ��
���� �

�� ����� ���
��� �� 
�� ���������
 ������ ����� 𝑠
𝜃−𝑖

𝑗′ ∕=𝑖,𝑗�

9�������= ��� ���� ����� �������
 ������� �� 
�� ��� �
 
�� ��� �
 
�� ���������
 ������

"�
 𝜃′ ����
� 
�� �����
�� 
��� ������ �� 
�� 𝑇 �
� ������� 8
 ������ 𝑖 ∈ 𝑁 �����
� 
��
�
���� ���


���� �� ��
� �
 ����
 𝑣𝑘𝑖 − 𝜀� 8
 �� ��������
�� �� ���
������� 
�� 	����=

�� 𝜅 (𝜃′) = ∅= 
�� ��7
 ����� �� 𝐸𝜃′ (𝜀′) ��
� 𝜀′𝑖 = −𝜀� �� ������ 𝑖+� ����� �� �
 ���


max𝜃′𝑖 ∕=𝜃𝑖 (1 − 𝛿) 𝑢𝑖(𝑘, 𝜇𝜃′𝑖,𝜃
′
−𝑖

(𝜀)) + 𝛿
(
𝑣𝑘𝑖 − 𝜀

)
� ���	� �� ���� 
��� 𝑣𝑘𝑖 − 𝜀 ��	���� �
 #?'�

$� 𝜅 (𝜃′) ∕= ∅ : ������ 𝑖 ��
� �
 ���
 max𝜃′𝑖 ∕=𝜃𝑖 (1 − 𝛿) 𝑢𝑖(𝑘, 𝜇𝜃′𝑖,𝜃
′
−𝑖

(𝜀)) + 𝛿
(
𝑣𝑘𝑖 − 𝜀

)
� ���	� �� ����


��� 𝑣𝑘𝑖 − 𝜀 ��	���� �
 #$'�

□

�������� ���� �	

� 
� �
�
	�� ��� ���

��

�
���������
� ������

(	
���� ��� �������	���� ���� �� ��������� .�	���� ������� ����
 ���� �� 
�� �� 
�� �	
�����

��	� ��	� 	������	�
��� ����� ����
 ������� ������� �������� (� 
�� �	
���� ������ ������ 
���

����� ���	
 ������� 	������	�
��� ������ ���
 �� ����
 ����
��� 
� ������� ������� �� �����

��
 �������� ��
� 
�� ���������
��� ����	� ��
���
���� �� 
��� ������ �� 
� �	����� ����
�� 
��
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������� 	��
����
��� ������ D�
���� �� ��� 
� �������
� 
�� �����	 ���������
��� ����	� ����


�� ���

�� ��
���
��� ���	� 
��� ��� 
�� ���� �� �� 
�� 
��������� 	���� 
�������� ����� ��
����	��

�� ,���� #�&41' ��� -�������� ��� )��/�� #�&&�'� ��� �� ��
�� 
�� ������ 
�  !���� ��� "���

#$%%&'�

.�	���� 	������	�
��� �������� ������� �������� �
��
����� ���
 ���� ���	�
� ��� � ������

����� ��
��� � 	������	�
��� ����� �
 ��� ��� �������� �	
���� �� ��� �������
+� �������� �	
���

������� ���	����� ��� 
��� �����
��� 	����	
�� ��� �����
� ��
����
���� ��� 	���
��	
��� ���


������ 
��
 	��
����
��� �
��
����� ������ ��
���� 
�� ��� �
�
�� �

�� ��	� ���
������ ��� 
���

�7������ ��� 
�� 	���
��	
��� 
��
 
������ �� ���� �������� 
��� ��� ����
 ���� �������� #8�

���
�	����� �
 �� 
�� 	���� 
�� 
�� �������
 /���� �
 	������	�
��� ����� ���	����� ������'

<��� �� ������� ��
� ������ #�� 	������ �
 ������'= >������	�
��� ������� ������� �������

����
��	� ������� ��� ���������
 �������

#�
����

$���&���	���� +�	��

��� ��		�
���
��
 ����� �����	�� 
�� 	������	�
��� �
���� ����� ��� �������
 �������� �


	������	�
��� ������ ����
�� 𝐶� 𝐶𝑖� �� 𝐶
∗
𝑖 � #@������� � ����� �� ����7�� �� ������ 𝑖 �
 𝑖+� �����


������ 
��� ����� �� �����
����� ���������' ( 	������	�
��� ����� ���
� 𝑐 �������� �����

𝑐 ≥ 1 + max
𝑖∈𝑁

ln ∣Θ𝑖∣
ln ∣𝐴𝑖∣ ,

�B� %����� �� ����	��" ����	��� !��%� �� ��!� ���� 𝑖 ��%������! ���� �� ��� ��
��� �� ��! �"
�4
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�� 
��
 ∣𝐴𝑖∣𝑐−1 ≥ ∣Θ𝑖∣� ��� 𝑖 ∈ 𝑁 � �� �7 
�� ����
���� ��
 ���
��	
 �	
���� 
�� ��	� ������� ����
��

𝑈 ��� 𝐵� ��� � �������

𝑚𝑖 : Θ𝑖 → 𝐴𝑐−1
𝑖 ,


��� ��� ��
 �
 
���� ��
� ������	�� �
 �	
���� �
 ����
� 𝑐 − 1� <����� 𝑖 #�� ��� ����' �����
� 𝜃𝑖

�
 ��� ���� �� 
�� 	������	�
��� ����� �� ����� 
� (𝑚𝑖(𝜃𝑖), 𝐵) #�� 𝐵 �� 
�� �	
��� 
��
 �� 
�/��

�� 
�� ���
 ������ �
 
��� ������' -�� ��� �
��� ����� �� �����
� (𝑈, 𝑛𝑈
𝑖 ) ����� 𝑛𝑈

𝑖 �� 
�� ������

�
 ������� �� 
�� 	������	�
��� ����� �� ���	� 𝑎𝑖 = 𝑈 � �� ���� ���
� 𝑈 ��
��� 
��� (𝑈, 𝑛𝑈
𝑖 )

�������� 	��������
� ��� ��


𝜃 ∈
∏

𝑖∈𝑁
Θ𝑖 ∪ ∪𝑐

𝑙=0(𝑈, 𝑙)

����
� � �����
� �� 	������ ������� -�� 𝑘 ∈ 𝐾� ��
 𝑢𝐶
𝑖 (𝑘, 𝜃) ����
� ������ 𝑖+� ������� ����� 
���


�� 	������	�
��� ����� �
 
�� �
�
� �� 𝑘 ��� 
�� �����
 �� 𝜃��

8� � 	������	�
��� ����� 𝐶� ������ 𝑗+� 
��� 𝜃𝑗 ����� 
�� ������	� 𝑚𝑖(𝜃𝑗 , 𝐵)� �� ���� �� ���

�������� ���� �� 
�� ����� ���� ��
 ���	���� ��� 
��� ����� ��� 8� � 	������	�
��� ����� 𝐶𝑖 ��

���� ������ 𝑗 ∕= 𝑖� ����� ������ 𝑖 ����� (𝑈, 𝑐)� 8
 � ������+� ���
 ���� ������
� ��� 
��� �����
���

��� 
��� 𝜃𝑖� �� ����� 𝑈 �� ����� ��������� ������ �
 
�� ������

������
���� ��� ���	����� ������

2�.& 	� +�	��

( ������� ����� �� ����
�� 𝑅(𝜃, 𝜀)� ����� 𝜅(𝜃) ∕= ∅� ��� 𝜀 ∈ [−𝜀, 𝜀]𝑁 � 
�� ���� 𝜀 > 0 
� ��

���	�����

( ������� ����� ���
� �
 ���
 𝑛 ������� #
� �� ���	����'� ����� 𝑛 > 𝑐� �� �7 � #��������

�,��! �! �� ���!� �$ ��	�������"� �! 
�"�@! �	� ��� ���/���" ������=�� �" ��� 	�
�	� 
	�=�� �������	 � 
��"�	
	�
�	�! 𝑈 � !��%� ���	� ����� �� ���" !�/���%�! �$ �%����! %�		�!
������ �� ���! 	�
�	�4 ���� �! ����� �! ���

�"�@ ����� ��� �%���� !�/���%� �$ �%���� 
	�=��!4

A2



	������
��' ��7�� �	
��� ������ 𝜇(𝜃, 𝜀) ∈ △𝐴 ��	� 
��
� ∀𝑘 ∈ 𝜅(𝜃), ∀𝑖 ∈ 𝑁 � ∀𝜀, 𝜀′ ∈ [−𝜀, 𝜀]𝑁 ���

∀𝜃′𝑖 ∈ Θ𝑖, 𝜃
′
𝑖 ∕= 𝜃𝑖, ��	� 
��
 𝜅(𝜃′𝑖, 𝜃−𝑖) ∕= ∅�

𝑢𝑅
𝑖 (𝑘, 𝜇(𝜃, 𝜀)) := (1 − 𝛿𝑛)𝑢𝑖(𝑘, 𝜇(𝜃, 𝜀)) + 𝛿𝑛𝑢𝐶

𝑖 (𝑘, 𝜃) = 𝑣𝑘𝑖 + 𝜀𝑖,

���

𝑢𝑅
𝑖 (𝑘, 𝜇(𝜃, 𝜀)) > 𝑢𝑅

𝑖 (𝑘, 𝜇(𝜃′𝑖, 𝜃−𝑖, 𝜀
′)),

���

𝑢𝑅
𝑖 (𝑘, 𝜇(𝜃′𝑖, 𝜃−𝑖, 𝜀

′)) ≤ 𝑣𝑘𝑖 − 2𝜀.

��� �
��	
 ��������
��� 	�� �� ��
����� 
�� 𝛿 	���� ������ 
� � ��� 𝜀 	���� ������ 
� %� ���	� 𝑣 ��

�
��	
�� ��	��
��� 	����
�����

8� ��� ������ �
 
�� ������� ������ ������� ���� 𝜇(𝜃, 𝜀)� ��� ������� ����� 𝑅(𝜃, 𝜀) �
���

�������
��� �

�� � �����
���� �����
��� 
��� 𝜇(𝜃, 𝜀)� �� �
 ��
� �

�� 𝑛 ��������

������
���� ��� ���	����� ������

+�������� +�	��

( ��
�
�
�� ����� �� ����
�� 𝐸(𝜃, 𝜀)� ����� 𝜀 ∈ [−𝜀, 𝜀]𝑁 � 𝜃 ∈ Θ� 𝜅(𝜃) = ∅� ��� 𝜃 ∈ 𝐷� (

����
��	� ����� ���
� �
 ���
 𝑛 �������� �� �7 � ������	� 𝑎(𝜃, 𝜀) ∈ 𝐴𝑛 ��	� 
��
 ∀(𝑖, 𝜃′𝑖) ∈ Ω𝜃�

𝑘 ∈ 𝜅(𝜃′𝑖, 𝜃−𝑖), 𝜀 ∈ [−𝜀, 𝜀]𝑁 �

𝑢𝐸
𝑖 (𝑘, 𝑎(𝜃, 𝜀)) :=

1 − 𝛿

1 − 𝛿𝑛

∑𝑛−1

𝑡=0
𝛿𝑡𝑢𝑖(𝑘, 𝑎𝑡(𝜃, 𝜀)) < 𝑣𝑘𝑖 − 2𝜀.

,�	� � ����
��	� ����� 𝐸(𝜃, 𝜀) �
��� �������
��� �

�� � �����
���� �����
��� 
��� 
�� ������	�

𝑎(𝜃, 𝜀)� �� �
 ��
� �

�� 𝑛 �������� 8� ������ 𝑡 �
 
�� ����
��	� ������ ������� ���� 𝑎𝑡(𝜃, 𝜀)�

A4



������
���� ��� ���	����� ������

+&�������� +�	��

( ��
���	�

 ������ ����7�� �� 𝑖� �� ����
�� 𝑃𝑖(𝜃−𝑖, 𝑡)� ����� 𝜃−𝑖 ∈ Θ−𝑖 �� ��	� 
��
 𝜅(𝜃−𝑖) ∕=
∅ ��� 𝑡 = 𝑛 �� 𝑇 #
� �� ������' ����
�� 
�� ����
� �
 
�� ���������
 ������

(� ��
���� �� �7 �� �	
��� 𝑎𝑖 ∈ 𝐴𝑖 ��� ��
 𝑠
𝑎𝑖
𝑖 ����
� 
�� �
��
��� �
 ������� 𝑎𝑖 �� ����� �������

����������
�� �
 
�� ���
���� 8� 
�� ���������
 ������ ������ 𝑖 ���� 𝑠
𝑎𝑖
𝑖 � ��� ������� −𝑖 ��� 𝑠𝜃−𝑖

−𝑖 �

�� ��	/ 𝑛, 𝑇, 𝛿 < 1 ��� 𝜀 ��	� 
��
� ∀𝛿 > 𝛿� ∀𝑘 ∈ 𝜅(𝜃−𝑖)� ������ 𝑖+� ������� ���	���
�� �����

���� 
�� 𝑡 ������� �� �
�
� 𝑘 �� �� ������ 
��� 𝑣𝑘𝑖 − 2𝜀� ��� 
��
 �
 �� ���	���
�� ������ ����

𝑡 = 𝑛 
��� ���� 𝑡 = 𝑇 � �� �7������� ������ ���� �� �������� ���	� 𝑣 ��
����� ���������� ��
������
�

�
��	
���

�� ����� ���
� 𝐶,𝑅,𝐸, 𝑃 
�� � 	������	�
���� �������� ����
��	� ��� ���������
 ����� ��
��

��
 
��
��� �������
 ���� 
���� �� �� ���/ �
 	��
������

$�����
����

M���� ��� ������� 𝜃� �����

� �������� 𝜃 ∈ Θ� ∀𝜃 ∈ Θ� Δ𝐼(𝜃, 𝜃) := {𝑖 ∈ 𝑁 ∣𝜃𝑖 ∕= 𝜃𝑖}5
� �������� 𝜃 ∈ Θ� 𝜃 ∈ 𝐷� Δ𝐷(𝜃) := {𝑖 ∈ 𝑁 ∣(𝑖, 𝜃′𝑖) ∈ Ω𝜃 
�� ���� 𝜃

′
𝑖 ∈ Θ𝑖}5

� �������� 𝜃 /∈ Θ� Δ𝑈(𝜃) := {𝑖 ∈ 𝑁 ∣𝜃𝑖 /∈ Θ𝑖}�
M���� � �����
���� �����
��� 
��� � ������	� 𝑎(𝜃, 𝜀)� �� 
��� � ��7�� �	
��� 𝜇(𝜃, 𝜀)� ��
 Δ𝐴

����
� 
�� ����7 �
 
�� ������ ��� �����
����	 -������� ����� � ��
 Δ ⊂ 𝑁 � ��
 −Δ := 𝑁 ∖ Δ�

�	��%��� ���� ���	� �! � 
����% 	������-����� ����%�� !� ���� �� ����"! �!!��� ���� 
��"�	! �!� � 
�	� �%����

	�=��� �! � $��%���� �$ ��� 	����-����� �$ ��� 
����% 	������-����� ����%�� !� ���� ��� ��A�� �%���� 
	�=�� ������!
�� �A
�%������!4

A&



3��� 	 ����&���	���� ��	��

��� 
�����
��� ������� �� 
�� ������� 𝜃 ������ 𝐶� 
�� ����� Φ ∈ {𝑅,𝑃,𝐸, 𝐶} �������
���
���	����� 𝐶� ��� 
�� ���� ������ Φ� @������ ����/���� �
 
���� �� �� �����
���� �����
��� ������

Φ� ��� �
 𝜃 ∈ Θ� � ������� �� � ����
��	� ����� 
������� ����� �
 𝜃 /∈ Θ� ��
��� � ���������
 ��

� 	������	�
��� ����� 
������� 8
 
���� �� � �����
���� �����
��� ������ Φ �� ������ 𝑖� 
��� �


𝜃−𝑖 ∈ Θ−𝑖� � ���������
 ����� 
������� )��� ���	������ �
 
���� �� � �����
���� �����
��� 
���

Φ = 𝐸,𝑅� ��
� Δ𝐴 = {𝑖}� 
��� 
�� ��7
 ����� ��

�� �
 𝜃−𝑖 ∈ Θ−𝑖� 𝜅(𝜃−𝑖) ∕= ∅= 𝑃𝑖(𝜃−𝑖, 𝑇 )5

$� �
�������� �
 �� 𝐶�

B� 
�� �
��� ����� �
 
���� �� �� �����
���� �����
��� 
��� Φ� �� �
 Φ = 𝑃,𝐶� ���

�� Φ ������ 𝑅(𝜃, 𝜀) �� 𝐸(𝜃, 𝜀)� 
�� ��7
 ����� ��=

#�' �
 𝜃 ∈ Θ� 𝜅(𝜃) ∕= ∅= 𝑅(𝜃, 𝜀−Δ𝐼(𝜃,𝜃)
,−𝜀Δ𝐼(𝜃,𝜃)

)5

#�' �
 𝜃 ∈ Θ� 𝜃 ∈ 𝐷= 𝐸(𝜃, 𝜀−Δ𝐷(𝜃),−𝜀Δ𝐷(𝜃))5

#	' �
 Δ𝑈(𝜃) = {𝑖}� 𝜅(𝜃−𝑖) ∕= ∅= 𝑃𝑖(𝜃−𝑖, 𝑛)5

#�' �
�������� 𝐶5

$� Φ ������ 𝑃𝑖(𝜃−𝑖, 𝑡)� 𝑡 = 𝑛, 𝑇 � 
�� ��7
 ����� ��=

#�' �
 𝜃 ∈ Θ� 𝜅(𝜃) ∕= ∅= 𝑅(𝜃, 𝜀(𝜃, 𝜃))� ����� 𝜀𝑖(𝜃, 𝜃) ∈ [−𝜀, 𝜀] �� 	����� �� 
��
� ����� 𝜃 ���
𝑠
𝜃−𝑖

−𝑖 � ����� 𝑠
𝑎𝑖
𝑖 �� ��
���� �� 
�� ���������
 ����� 
�� ������ 𝑖5 ��� 
��
���� �
 𝜃−𝑖 = 𝜃−𝑖�

������ 𝑖+� 	��
����
��� ����� �� 
�� �����
�� ����� ������
�� �
 
�� ��������� �
 
��
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���������
 ������ �� ����� 
�� 
�� ��� 𝑘 ∈ 𝜅(𝜃)�

(1 − 𝛿𝑡)(𝑣𝑘𝑖 − 2𝜀) + 𝛿𝑡(𝑣𝑘𝑖 − 𝜀);

��� 
�� 𝑗 ∕= 𝑖� 𝜀𝑗(𝜃, 𝜃) �� 	����� �� 
��
� ����� 𝜃� 𝑠
𝜃−𝑗

−𝑗 ��� 𝑠
𝑎𝑖
𝑖 � 𝑠

𝜃𝑗
𝑗 �� ��
���� 
�� ������

𝑗 �� 
�� ���������
 ������ -��
��� 𝜀𝑗(𝜃, 𝜃) ∈ [𝜀/4, 3𝜀/4] �
 𝜃𝑗 = 𝜃𝑗 ��� 𝜀𝑗(𝜃, 𝜃) ∈
[−3𝜀/4,−𝜀/4] �
�������5

#�' �
 𝜃 ∈ Θ� 𝜃 ∈ 𝐷= 𝐸(𝜃, 0−Δ𝐷(𝜃),−𝜀Δ𝐷(𝜃))5

#	' �
�������� 𝐶�

?� Φ ������ 𝐶� �� 𝐶𝑖 ��� 𝜃 �� 
�� �����
 ������ Φ� 
�� ��7
 ����� ��=

#�' �
 𝜃 ∈ Θ� 𝜅(𝜃) ∕= ∅= 𝑅(𝜃, 𝜀(𝜃, 𝜃))� ������ �
 Φ = 𝐶� �� 𝑗 ∕= 𝑖�

𝜀𝑗(𝜃, 𝜃) =

⎧⎨
⎩

0 : 𝜃𝑗 = 𝜃𝑗 ,

−𝜀/4 + 𝜌𝑛𝑈 : 𝜃𝑗 = (𝑈, 𝑛𝑈),

−𝜀 : �
��������

��� �
 Φ = 𝐶𝑖�

𝜀𝑖(𝜃, 𝜃) =

⎧⎨
⎩

−𝜀+ 𝜌𝑛𝑈 : 𝜃𝑖 = (𝑈, 𝑛𝑈),

−𝜀 : �
��������


�� ���� 𝜌 > 0 
� �� ������5

#�' �
 𝜃 ∈ Θ� 𝜃 ∈ 𝐷= 𝐸(𝜃, 0−Δ𝐷(𝜃),−𝜀Δ𝐷(𝜃))5

#	' �
 Δ𝑈(𝜃) = {𝑖}� 𝜅(𝜃−𝑖) ∕= ∅= 𝑃𝑖(𝜃−𝑖, 𝑛)5

#�' �
�������� 𝐶�

*�



3��� 	�� ����� ��	��

(�� �
��� ����� �� 
������� �� � 	������	�
��� ������ 8
 
���� �� � �����
���� �����
��� 
��� �

����� Φ = 𝑅,𝐸� ��
� Δ𝐴 = {𝑖}� �
 �� � 	������	�
��� ����� 𝐶𝑖5 �
�������� �
 �� � 	������	�
���

����� 𝐶�


��
��	 �%���

��� ���� �
��
� ��
� � 	������	�
��� ������ �
 
�� ��� �
 ���	� 
�����
���� �		�� �� �
 
��

�������� ����� ��� ���� 𝐶� ��
� 𝜃 = 𝜃� ��� 𝜀 ∈ [−𝜀, 𝜀] �� ��	� 
��
 
�� ����� #��	������ �
 
��
���
��� 	������	�
��� �����' �� ����� 
� 𝑣�

 ���&��
��� �� ��
���	�
�

>������� ���
 
�� ��	��
���� �
 ������ 𝑖 
� �����
� ������ � ������� ������ 8
 �� ���� ��� �

���������
 ����� 𝑃𝑖 ���� �
��
 �

�� 
�� 	������	�
��� ������ <����� 𝑖 �7��	
� 
�� 
��� ������

𝜃−𝑖 �����
�� �� 
�� �
��� ������� �

�� 
�� �����
��� ��� ��
��� 
�� ���������
 ����� 
� ��

	����	
5 ���	� ��� ����� �
 
�� ��������� �
 
�� ���������
 ����� ��

(1 − 𝛿𝑇 )(𝑣𝑘𝑖 − 2𝜀) + 𝛿𝑇 (𝑣𝑘𝑖 − 𝜀),


��� �� ��� �� ��	��
��� 
� �����
� �� 
��� 	���� �� ���
��� �� ��
 ��� ��� �����
 ��� 	����	
� ���

����� 
��� 
�������� 
�� ����������� �
��
����� �� ���������

>������� ��7
 � ���������
 ����� 𝑃𝑖� ��� �����
��� �
 𝜀𝑖 ������
��� 
��
 𝑠
𝑎𝑖
𝑖 �� ��
���� 
��

��6��� ���� ��� !�������� ���	� ��� 	�
�	��� �"
� 
	�=�� �" −𝑖 �! ��%�		�%� �! ��� 	������� $�	 ��	�$"��� ����

��"�	 𝑖 ���! ��� ������� ��	��� ��� 	�����	 
��!�4 ,��! �! ��%��!�� �� ��� ���� �$ ��� ���������� �� �A
�%�! ���
����	 
��"�	 �� 	�
�	� %�		�%��" ����	 �"
� ��	��� ��� %������%����� 
��!�4
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������ 𝑖� ,��������� 
�� �����
��� �
 𝜀𝑗 ������� 
��
 ������ 𝑗 ∕= 𝑖 ��� �� ��	��
��� 
� �����
�� ����

�� 
��� ���
��� 
�� ���������
 ����� ���
� 𝑛 �� 𝑇 ��������

>������� ��7
 � �������� �����
��� ������ 
�� ����
��	� ������ ����� 
�� ������� �����


��� 
�� ����
��	� ����� �� ���� ������� 
��
 �
 ���
� ���� 𝑛 ������� #���� ����� 
�� �����������

�
��
������ 
�� ������� 	������	�
��� ����� ���� �� 
������� �� � ������� ����� �
 
�� ������

��
����� 
��� �����
���� ����������
�� �
 
�� ���
��� �� 
� 
�� 	��
�����
�� �����
���'� ����� 
��

���������
 ����� 
��
 
�� �����
��� ����� 
������ ���
� 𝑇 �������� �� ��	/ 𝑇 ��� 𝑛 �� �� 
�

������ 
��
 �� ��	� �����
��� �� ����
�����

>������� ������ � �������� �����
��� ������ � 	������	�
��� ������ ,
��
 ��
� � 	������	��


��� ����� 𝐶�

�� (����� ���
 
��
 
�� ���
��� �� 
�� 	������	�
��� ����� �� 	�����
��
 ��
� #��������� �����

�
����' ���� 
��� ������ 𝜃 ∈ Θ #����� 
�� ���
��� �� 
�� 	������	�
��� ����� �� �� ���
��� ������


�
 (𝑚1(𝜃1), . . . , 𝑚𝑁(𝜃𝑁 ))'� ��� 𝜃𝑖 �� ������ ������ 𝑖+� 
���� 8
 
�� 
��� �
�
� �� 𝜃� 
��� �� �����
���

𝑈 � � ���������
 ����� 𝑃𝑖 �
 ����
� 𝑛 ���� �� ��
����� 
�� �7��	
�� ����� �
 ���	� ������� 
��
 �


�� ��

�� ��
 
� �� ��� 8
 
�� 
��� �
�
� �� ��
 𝜃� 
��� �		������ 
� 
�� ����������� �
��
������ ����

������ 𝑗 ∕= 𝑖 ���� �����
 𝑈 �� 
��� 	������	�
��� ������ 8
 ������ 𝑖 �����
� 𝑈 � � 	������	�
���

����� 𝐶 ���� �� ��
����� �
 
�� ��� �
 ���	� � ������� ����� ���� �� �
��
��� 
�� ���	� 𝜀𝑖 < 0

#��	/ 𝜌 ��	� 
��
 −𝜀/4 + 𝜌𝑐 < 0'5 �� �
�	/��� 
� 
�� �����
 �
 𝜃𝑖� ��
��� � 	������	�
��� �����

𝐶 ���� �
��
 #�� 	��� 𝜃𝑗 ��� 𝜃𝑗′ ����� 
��� 
�� 
��� �
�
� 
�� 
�� ������� 𝑗, 𝑗′'� �� ���	� 	���� ��


�� ������� ������� ������ ������ 𝑖+� 𝜀𝑖 �� ����� �� � ���������
 ����� �
 ����
� 𝑛 ���� �
��
� �



�� ��� �
 ���	�� �� 
�� ������� ������� ������ ������ 𝑖+� 𝜀𝑖 �� �
 ����
 𝜀/45 �
 	������ 𝑖+� �����

������ 
�� 𝑛 ������� 	�� �� ���� ���� ��
 �� 	�� ��
�� ��	� �����
���� �� ��	/��� 𝜌 ���	���
��

����� #��
 ��
 
�� ������ ��� �����'�

$� (����� ��7
 
��
 
�� ���
��� �� 
�� 	������	�
��� ����� �� 	�����
��
 ��
� ���� 
���
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������ 𝜃 ∈ Θ� ��
 𝜃𝑖 �� ��
 ������ 𝑖+� 
���� ����� 
�� ����������� �
��
��� 	���� 
�� ������ 𝑖 
�

�����
 𝑈 #�
 
���� �� �
 ����
 ��� ������5 �
�������� 
���� �� ��
���� 
� ����'� ,������ ���
 
��



�� �
��� �������+ 
��� ������ �� ������ 𝜃−𝑖� .� �����
��� 𝑈 � ������ 𝑖 
������� � ���������
 �����

𝑃𝑖 �
 ����
� 𝑛� ��
 �� 
������ 
� �� ��� �� 
������� 
�� ���� �
 � ������� ����� 
�� ���	� 
�� ����

���� ��
 	��������� 
� 
�� 
��� 
��� ������� �� 	�� ��	/ 𝑛 ����� ������ 
� ������
�� 
��
� ���	�


�� ����� ������ ��	� � ������� ����� �� ���� 
��
 𝑣𝑖 − 𝜀� ������ 𝑖 ���
��� ��
 
� �����
�� ,������

��7
 
��
 
���� �7��
� �7�	
�� ��� �
��� ������ 𝑗 
�� ���	� 𝜃𝑗 �� ��
 
�� 
��� 
���� .� �����
��� 𝑈 �

� ��	��� 	������	�
��� ����� �
��
�� ��
 ������ 𝑖 �� ������
��� �
 ����
 � ����� �
 𝜀𝑖 ≥ −𝜀/4 ��

�� ������� ����� �
 
�� ��� �
 �
5 �
 ������ 𝑖 ������
� �� �����
��� 
�� ��	����	
 
���� � ���������


����� 𝑃𝑗 �
 ����
� 𝑛 
������� �
 
�� ��� �
 ���	� ������ 𝑖+� 𝜀 �� �
��	
�� ���� 
��� −𝜀/45 ������� �


���� ��� 
�� �� ���� �
��� ������� 
�� ���	� 𝜃𝑗 �� ��	����	
� ��� �
 ������ 𝑖 �����
� 𝑈 � �� ����

������
��� 
��
� �� 
�� ������� ����� 
��
 ���� 
����� 
�� ��	��� 	������	�
��� ������ 𝜀𝑖 ≥ −𝜀/45
�
 �� �����
� �������
��� �� 
�� ������� ����� 
��
 ���� 
����� 
�� ��	��� 	������	�
��� ������

𝜀𝑖 = −𝜀�
?� (����� ������ 
��
 
�� ���
��� �� 
�� 	������	�
��� ����� �� ��
 	�����
��
 ��
� ����


��� ������ 𝜃 ∈ Θ� ���� ���� ������ �����
� 𝑈 �������� ��� ���� �������
� �� ��
��� �����

�����
 �����
�	� ���	� �� 
�� �������� �������
�� �
 𝜃𝑗 ��� ��
 
�� 
��� 
��� 
�� ��� �� ����

�������� 
���� ������� 𝑗 ���� ����
 
� �����
 𝑈 ������� 6�
� 
��
 ���
������ � �����
 �
 𝑈 ��

��� �� ���� ������� ��
��� � 	������	�
��� ����� �� �����
����� ���	� 
�� �������
 𝜀𝑖 
��� 
��

�������
 ������� ������� ����� �� ��	������� �� 
�� ������ �
 
���� ������ 𝑖 	����� 𝑈 � #���� ��

����� �� ���� 
��
 𝜌 �� ��
 
�� ������ ���� ���	������ �
 ���
 �� �
 ����
 (1 − 𝛿)𝑀'�

����� �������
� ��� ������� ����
�� 
� 
�� 	��� �� ���	� 
�� 	������	�
��� ����� �� 𝐶𝑖�

>������� ���
 
�� 	��� �� ���	� 
�� �������� ����� ��� 𝐸 �� 𝑅 #����� ������ 𝑖 �����
�� �� �	
����'�
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,������ ���
 
��
 
�� �
��� �������+ 
��� ������ 𝜃−𝑖 �� 	�����
��
 ��
� 
�� ���
��� �� 
�� 	�����

��	�
��� ������ ,��	� 
�� ����������� 	���� 
�� � ���������
 ����� 
� 
������ 
�� ���	��	�
��� �


𝜀𝑗� 𝜀𝑖 ������� 
��
 �� ������ ����� 
��� �����
���= ����� ������ 𝑖 �����
� 
��� ������� 𝑈 �� �

�� ��

��������� ��� �
��� ������� ���� �� �����
��� 
���� 
��� 
��
�
����� ,������ ��� 
��
 
�� ���
���

�� 
�� 	������	�
��� ����� �� ��
 	�����
��
 ��
� ���� 
��� ������ 𝜃𝑖 ∈ Θ𝑖� 
��� ���� ������ −𝑖
���� ���� 𝑈 ��� � ��� 	������	�
��� ����� 𝐶 ���� 
������ (��� �� 
��� 	��� ������ 𝑖 �����
� 
���

������� 𝑈 ���	� 𝜀𝑖 = −𝜀 + 𝜌𝑛𝑈 �� 
�� ������� ����� 
��
 ���� 
����� 
�� ��� 	������	�
��� 𝐶 �

�������� �� �	

� 
� �
�
	�� ���

'������
�

�� ����� 
��
 �
 �� ��
����
��� �
��	
��� ��� � ������ ��0���
� 	�������
 ��� �� ���
��� "�;

��� ��� 
�� ���������
���� ������
�� 
��� 
���� �� � ������ 
��	
��� #���	� ��
����� CB<' ��	�


��
 𝑉 ∗ �� ���
�� -���
 ������� 
��
 �
 �� ���	���
 
� 
�	�� �� 
��� ��
����
��� �
��	
�����

+���������� "�� �� �
 �
���	�
��
 �
���
��� ��� � ��
��� 	�����
� ��	��
�

 �
� �� 
��
���

$4 
�� ��� 
�� �������
�
��
� ������
�� 
��
 
���� 
���� �� � �����
 �� 
���� �
�
�� ���� 
��
 
��

���
���
��
 �� ℐ 
� 
��� �����
 �� �� �
� �� 
�� �����"�
� ���� 
����

𝑘1 𝑘2 𝑘3

1 𝑘1 ∗ ∗
2 ∗ 𝑘2 ∗

%

𝑘1 𝑘2 𝑘3

1 𝑘1 ∗ ∗
2 ∗ 𝑘2 ∗
3 𝑘1 𝑘2 𝑘3

;

𝑘1 𝑘2 𝑘3

1 𝑘1 ∗ ∗
2 ∗ 𝑘2 ∗
3 𝑘1 ∗ ∗

0

𝑘1 𝑘2 𝑘3

1 𝑘1 ∗ ∗
2 ∗ 𝑘2 ∗
3 𝑘1 ∗ ∗
4 ∗ 𝑘2 ∗

#

**



"���� 
�� �

���� ��� 
�� 
����� �� ���
���� �� 
�� ������� �
� �
 �� �
����
��� 
��
 �
��� �������

���� 
� �
���	�
��
 �
 
���� �
�
���

��� ����
 �� ������
�� 
� ���������
�� ��
����� #(������7 M'�

$�&�������	�� ��

-�� ��	� ��
����
��� �
��	
���� �� ������
 � 	���
����7������ ���� � ������ 
��	
��� 
�� ���	�

𝑉 ∗(𝑢, ℐ) = ∅�

,� 	 ��������� *	�� � �4 ��� ����� �� �
��
 �� � 	���
����7����� ��� 
� C���� #�&&$'�

��� ����  !���� ��� "��� #$%%&'� ����� ��� 
���� �
�
�� 𝑘, 𝑘′, 𝑘′′� ��� ��
����
��� �
 ������ �

�� 𝐼1(𝑘) = {𝑘, 𝑘′′}� 𝐼1(𝑘′) = {𝑘′}� ��� ��
����
��� �
 ������ $ �� 𝐼2(𝑘) = {𝑘, 𝑘′}� 𝐼2(𝑘′′) = {𝑘′′}�
<����� � 	������ ���� ��� ������ $ 	������ 	�������

𝐿 𝑅

𝑇 3, 1 0, 0

𝐵 0, 0 1, 3

�
�
� 𝑘

𝐿 𝑅

𝑇 3, 0 0, 1

𝐵 0, 0 1, 1

�
�
� 𝑘′′

𝐿 𝑅

𝑇 1, 1 1, 0

𝐵 0, 0 0, 3

�
�
� 𝑘′

��� ����
 
��
 𝑉 ∗ = ∅ 
�� 
��� ���� �� ��  !���� ��� "��� #$%%&'� ��� ���� �������
 �� 
��


��������� 8� �
�
� 𝑘′� ������ � ��� � �������
 �
��
���� ��� ���������� ��
������
� �������� 𝑇 
�

�� ������ ��
� 
������	� � �� 
��
 �
�
�� 6��� �� �
�
� 𝑘� ������ � ��� 	���� 
��
 
�� �
�
� ��

𝑘′� 8�	��
��� 	����
�����
� �������� 
��� (𝑇, 𝐿) 
� �� ������ ��
� 
������	� �
 ����
 3/4 �� �
�
�

𝑘� ( �����
��	 �������
 
�� ������ $ ����� 
��
 (𝐵,𝑅) ���
 �� ������ ��
� 
������	� �
 ����


3/4 �� �
�
� 𝑘� ����� 
�� ����������
� ��� ��
����� ��	����
�����

*1



(� ,����. 	 4&  � ��4����� � 	��� >������� �7����� *�*� ���� 	���������� 
� 
�� ��������

���� ��
� 
�� ����
��� �
 � 
���� ������� ������ ?� ��� /���� 
�� �
�
��

$� ,����. 	 �	���	  � ��4����� � 	��� >������� 
�� ���� �
 	��� ( ������ ��� ������ 
��



���� �� � ������ ? ��� ��� 
�� ���� ��
����
��� �� ������ $� ��� ����� �
 ������ ? ���� ��


������ �� 
�� �
�
� ��� ��=

𝐿 𝑅

𝑇 3 3 − 𝜀

𝐵 3 0

𝑢3

8� 
��� ����� 𝑉 ∗ �� ���
�� (����� 
�� 
�� ��/� �
 	��
����	
��� 
��
 
���� �� � ����
 𝑣 �� 𝑉 ∗�

8��������� ��
������
� �
 ������� � ��� $ ������� 
��
 �� �
�
� 𝑘′� 𝑇 �� ������ ��
� 
������	� �� ���

(𝑇,𝑅) ��
� 
������	� �� ���� 
��� 1/4� ����� ���	� ������ � �� 
�� ���� ������ 
� ���
������� 𝑘

��� 𝑘′� ��	��
��� 	����
�����
� �������� 
��
 
�� ����� 𝑣𝑘1 �
 ������ � �� �
�
� 𝑘 ��
�����= 𝑣
𝑘
1 ≥ 3× 3

4
�

,��	� 
�� ��� �
 ������� � ��� $+� ������ �� �
�
� 𝑘 �� �
 ���
 A� 
��� ������� 𝑣𝑘2 ≤ 7
4
� 8���������

��
������
� �
 ������� � ��� $ ���� ������� 
��
 �� �
�
� 𝑘′′� 𝑅 �� ������ ��
� 
������	� �� ��� (𝑇,𝑅)

��
� 
������	� �� ���� 
��� 1/4� ���� ������� 
��
 
�� ����� �
 ������ ? �� �
�
� 𝑘′′ �� ��	� 
��
=

𝑣𝑘
′′

3 ≤ (3 − 𝜀)/4�

>������� ��� 
�� 
�������� ��	�����
��
 �����
�= ������ $ 	����� 
��
 
�� �
�
� �� 𝑘′′ ���

������ ? 	����� 
��
 
�� �
�
� �� 𝑘� N���
 ��
������
� �������� 
��
 
���� �7��
� � ���
����
��� 𝛼

�
 �	
��� ������� ��	� 
��
 𝑣𝑘2 ≥ 𝑢𝑘
2(𝛼) ��� 𝑣𝑘

′′
3 ≥ 𝑢3(𝛼)� ���� �� ����������� ��	���� 𝑣𝑘2 + 𝑣𝑘

′′
3 ≤

7/4 + (3 − 𝜀)/4 < 3 − 𝜀 
�� 𝜀 ����� ��� ���	� 
�� ����� �	
��� ������� 𝑢𝑘
2 + 𝑢3 ≥ 3 − 𝜀�

�� ,����. ��� �	���	  � ��4����� � 	��� >������� ��	� ����� 
�� ���� �
 	��� (� ���

������ 
��
 
���� �� � 
���� ������� ������ ?� ��� ��� 
�� ���� ��
����
��� �� ������ $� ��� �

*2




���
� ������� ������ A� ��� ��� 
�� ���� ��
����
��� �� ������ �� ��� ����� �
 ������ ? �� �� ��

	��� >� ��� ����� �
 ������ A ���� ��
 ������ �� 
�� �
�
� ��� ��=

𝐿 𝑅

𝑇 0 3 − 𝜀

𝐵 3 3

𝑢4

8� 
��� ����� 𝑉 ∗ �� ���
�� (����� 
�� 
�� ��/� �
 	��
����	
��� 
��
 
���� �� � ����
 𝑣 ��

𝑉 ∗� (� �� 
�� �������� �7������ ���������� ��
������
� �
 ������� � ��� $ �� �
�
� 𝑘′′ �������

𝑣𝑘
′′

3 ≤ (3− 𝜀)/4� >������� ����� 
�� ��	�����
��
 �����
� �� ���	� ������ $ 	����� 
��
 
�� �
�
� ��

𝑘′′� ����� ������ ? 	����� 
��
 
�� �
�
� �� 𝑘� ,��	� 
�� ����� �	
��� ������ 𝑢𝑘
2 + 𝑢3 ≥ 3 − 𝜀� 0���


��
������
� ������� 𝑣𝑘2 + 𝑣𝑘
′′

3 ≥ 3 − 𝜀 ��� 
��� 𝑣𝑘2 ≥ (3 − 𝜀)3/4�

.� � �����
��	 �������
� 	���������� 
�� ��	�����
��
 �����
� �� ���	� ������ � 	����� 
��



�� �
�
� �� 𝑘′ ��� ������ A 	����� 
��
 
�� �
�
� �� 𝑘� �� ��� 𝑣𝑘1 ≥ (3 − 𝜀)3/4� ���� ������� 
��


𝑣𝑘1 + 𝑣𝑘2 ≥ (3 − 𝜀)3/2 > 4 
�� ����� 𝜀� ���	� �� �����������

��� 
�������� <������
��� ���� 
��
 �� ��
����
��� �
��	
��� ��
� � ������ ��0���
� 	�����

���
� 
��
 �� ���
��� "�; ��� ��� 
�� ���������
���� ������
� �� ��	������ �
 ��� �
 
��� (� .� >

�� D�

()� �� ��*����


8� 
��� ���
 �� ���� 
��
 �
 
�� ��
����
��� �
��	
��� �� ��	���� ���/�� ��������� 
���

𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝑆ℐ � 6�
� 
��
 �
 
���� �� � ������ ��0���
� 	�������
� "�; ������� 
��
 
����

�7��
� 
�� ������� ��$ ��� � ���
�
��� �
 
�� ��
 �
 �
�
�� 𝐾 = 𝐾1 ∪𝐾2 ��	� 
��
=

∙ 𝐼𝑙(𝑘) = 𝐾 
�� ��	� 𝑘 ��� ��	� 𝑙 ∕= 1, 2�

*4



∙ 𝐼1(𝑘) = {𝑘} 
�� ��	� 𝑘 ∈ 𝐾1�

∙ 𝐼2(𝑘) = {𝑘} 
�� ��	� 𝑘 ∈ 𝐾2�

�� ���
 ����� 
�� �����
 �������� 𝐾1 = 𝐾� ���� ������ � �� 
���� ��
����� �
 ��	� �
�
��

+���������� "�
 0�
����� �
 �
���	�
��
 �
���
��� ���� 
��
� ������ + .
�"� 
�� �
�
� �
�

������� 3, . . . , 𝑛 ���� 
� �
���	�
��
 '���� ∀𝑘� 𝐼1(𝑘) = {𝑘}� 𝐼3(𝑘) = ⋅ ⋅ ⋅ = 𝐼𝑁 (𝑘) = 𝐾*� &��


𝑉 ∗(ℐ, 𝑢) ∕= ∅� ∀𝑢 ∈ 𝑆ℐ�

������ D���
� �� 𝑢𝑖 
�� �����7 ����� �
 ������ 𝑖 = 3, . . . , 𝑁 � 𝑢𝑘
1 
�� �����7 ����� �
 ������ � ��

�
�
� 𝑘 ��� 𝑢𝜃
2� 
�� �����7 ����� �
 ������ $ �
 
��� 𝜃� -�� ��	� 
��� 𝜃 �
 ������ $� 	������� 
��

��
 𝒜𝜃 �
 ��7�� �	
���� ������� 𝛼 ��	� 
��
=

∙ -�� ��	� 𝑖 = 3, . . . , 𝑁 �

∀𝑎2 ∈ 𝐴2, 𝑢𝑖(𝛼1, 𝑎2, 𝛼3, . . . , 𝛼𝑁) ≥ 𝑢𝑖.

∙ 𝛼2 �� � ���
������ �
 ������ $ �
 
��� 𝜃 
� (𝛼1, 𝛼3, . . . , 𝛼𝑁)

��� ��
 𝒜𝜃 �� 	������ 	����	
�

$ 	�� "�
 𝒜𝜃 �� 
�
��	�
��

������ �� �7 𝛼1� -�� 𝑖 ≥ 3 	������� 
�� 	�����������	� 𝐹𝑖(𝛼1, ⋅) : ×𝑗 /∈{1,2,𝑖}△𝐴𝑗 → △𝐴𝑖 ������

��=

𝐹𝑖(𝛼1, 𝛼−1−2−𝑖) = {𝛼𝑖 : ∀𝑎2, 𝑢𝑖(𝛼1, 𝑎2, 𝛼𝑖, 𝛼−1−2−𝑖) ≥ 𝑢𝑖}

���� 	�����������	� �� 	����7 ��� 	����	
 ������� "�
 �� ����� 
��
 
��� �� ���� �������
�

������� -�� � ����� 𝛼−1−2−𝑖� ������ 𝑖 ��� � ��7�� �	
��� 
��
 ������ � ����� �� ���� 
���=

max
𝛼𝑖

min
𝑎2

𝑢𝑖(𝛼1, 𝑎2, 𝛼𝑖, 𝛼−1−2−𝑖) = min
𝛼2

max
𝑎𝑖

𝑢𝑖(𝛼1, 𝛼2, 𝑎𝑖, 𝛼−1−2−𝑖)

*&



����� 
�� ������
� 
������ 
��� 
�� �����7 
������� 6��� min𝛼2 max𝑎𝑖 𝑢𝑖(𝛼1, 𝛼2, 𝑎𝑖, 𝛼−1−2−𝑖) ≥
𝑢𝑖� ��� 𝐹𝑖(𝛼1, 𝛼−1−2−𝑖) �� �������
��

"�
 �� ����
� 𝐵𝑅2,𝜃 
�� ���
������ 	�����������	� �
 ������ $ �
 
��� 𝜃 ��� 𝐵𝑅1,𝑓 �� 
��

���
������ 	�����������	� �
 ������ � ���� ��� ����� 
��	
��� �� 𝑓 : 𝐴 → ℝ� >������� 
��

	�����������	� Φ𝑓,𝜃 
��� ×𝑖△𝐴𝑖 
� �
���
 ������ �� 
������=

Φ𝑓,𝜃(𝛼) = {𝛽 : 𝛽1 ∈ 𝐵𝑅1,𝑓 (𝛼−1), 𝛽2 ∈ 𝐵𝑅2,𝜃(𝛼−2), ∀𝑖 ≥ 3, 𝛽𝑖 ∈ 𝐹𝑖(𝛼1, 𝛼−1−2−𝑖)}

Φ𝑓,𝜃 ��� �������
�� 	����7 ��� 	����	
 ������ ��� �
 �� �
�����

������ 
� 	��	/ 
��
 �
 ��� �

	����� ������ 8
 ����
� 
��� � �7�� ����
 𝛼̄ �� C�/�
���+� �7�� ����
 
������� >������� 𝛼̄ �� ��

𝒜𝜃� 6�
� 
��
 
��� ������ ��� 
�� ����
����� ������
� 
� �� �� 
�� ���
������ ����� �
 ������ ��

�� 
��� ���� ���� ������� �
 
������ �� �� 	�� 	����� ��� ����� 
��	
��� 
�� ������ �� ����

������
� �� ���� ��
�� ��� ���� ���� 
�� ����
 �
 
�� >�����

6�
� 
��
 
��� ������ "���� *�4 �� 	���������� 
�� ���	��� 	��� ����� ������ � ��� � ������

�	
����

"�
 𝛼𝑘 �� � ��7�� �	
��� ������ 
��
 ��7������ 𝑢1(𝑘, 𝛼) ���� 𝛼 ∈ 𝒜𝐼2(𝑘)� �� 	���� 
��
 
��

����� ��	
��=

(𝑢1(𝑘, 𝛼
𝑘), 𝑢2(𝐼2(𝑘), 𝛼𝑘), 𝑢3(𝛼

𝑘), . . . , 𝑢𝑁(𝛼𝑘))

�� �� 𝑉 ∗� �� ������ 
��� �����
���� 
�� ��
����� ������ ������	�� �� �	
��� ������ 
�� ��� �������

��
 ������ $� ��� 
�/�� � ���
������� <����� � ��� 	����� 
�� ������ �� ��� ������� �������� 
��


�
 ��	���� 
�� �����7 ����� �
 ������� 3, . . . , 𝑁 � �������	
��� �
 
�� �	
��� �
 ������ $�

H���� 
�� ������
���� �
 <������
��� 2�$� 
�� 	���
����
� ������� 𝑉 ∗ ��� 
�� 
��������=

1%



∙ �
�������� ��
��
���
� ��� ������ +�

-�� ��	� 𝜃 ��� ��	� 𝑞 ∈ △𝜃�

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼
𝑘) ≥ min

𝛼−1

max
𝛼1

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼1, 𝛼−1)

∙ �
�������� ��
��
���
� ��� ������� ,� -� . . . , 𝑛�

-�� ��	� 𝑘� 𝑢2(𝐼2(𝑘), 𝛼𝑘) ≥ 𝑢
𝐼2(𝑘)
2 � 
�� ��	� 𝑖 ≥ 3� 𝑢𝑖(𝛼

𝑘) ≥ 𝑢𝑖�

∙ �
��

��� ��	��
�����
� ��� ������ +�

-�� ��	� 𝑘, 𝑘′ ��	� 
��
 𝐼2(𝑘) = 𝐼2(𝑘
′)� 𝑢1(𝑘, 𝛼𝑘) ≥ 𝑢1(𝑘, 𝛼

𝑘′
).

∙ 8��

 ��
��
���
� ��� ������� + �
� ,�

-�� ��	� ������	����
 (𝑘′, 𝜃) ��	� 
��
 𝜃 ∕= 𝐼2(𝑘
′)� ��
 𝛼𝑘′,𝜃 = (𝛼𝑘′

−2, 𝛼
𝑘′,𝜃
2 )� ����� 𝛼𝑘′,𝜃

2

�� � ���
������ �
 ������ $ �
 
��� 𝜃 
� 𝛼𝑘′
� ��� 
��� �
�
� �� ��
��� 𝑘′ #��� ������ $ ��

��������
���' �� 𝑘 ∈ 𝜃 #�� ���	� 	��� ������ � �� ��������
���'� ��� 
�������� ���
 ����=

𝑢1(𝑘, 𝛼
𝑘) ≥ 𝑢1(𝑘, 𝛼

𝑘′,𝜃) 
�� 𝑘 ∈ 𝜃� ��� 𝑢2(𝐼2(𝑘
′), 𝛼𝑘′

) ≥ 𝑢2(𝐼2(𝑘
′), 𝛼𝑘′,𝜃)�

"�
 �� 	��	/ ��� 
���� ����
��

�
�������� ��
��
���
� ��� ������ +� -�7 𝜃 ��� 𝑞 ∈ △𝜃� 8
 
������ 
��� ��� 	���
��	
��� 
��
=

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼
𝑘) =

∑
𝑘∈𝜃

𝑞𝑘 max
𝛼∈𝒜𝜃

𝑢1(𝑘, 𝛼) ≥ max
𝛼∈𝒜𝜃

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼)

"�
 𝛼̄ �� � �7�� ����
 �
 Φ𝑓,𝜃 ����� 𝑓 �� 	����� 
� ��
∑

𝑘∈𝜃 𝑞𝑘𝑢1(𝑘, ⋅)� �� ��
=

max
𝛼∈𝒜𝜃

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼) ≥
∑

𝑘∈𝜃
𝑞𝑘𝑢1(𝑘, 𝛼̄) = max

𝛼1

∑
𝑘∈𝜃

𝑞𝑘𝑢1(𝑘, 𝛼1, 𝛼̄−1)

1�



����� 
�� ���
 ������
� ����� ���	� 𝛼̄ �� �� 
�� ����� �
 𝐵𝑅1,𝑓 � ��� ����
���������� �� �� ���� 
���

min𝛼−1 max𝛼1

∑
𝑘∈𝜃 𝑞𝑘𝑢1(𝑘, 𝛼1, 𝛼−1)�

�
�������� ��
��
���
� ��� ������� ,� -� . . . , 𝑁 � 8��������� ��
������
� 
�� ������� 3, . . . , 𝑛 ����� ��

	���
��	
��� �
 𝒜𝜃� 8��������� ��
������
� 
�� ������ $ ����� ���	� ��� ����� � ���
������ 
� ����

��7�� �	
��� �������

�
��

��� ��	��
�����
� ��� ������ +� ,������ 
��
 
�� 
��� �
�
� �� 𝑘 ��� ��
 𝜃 = 𝐼2(𝑘)� <�����

� ��
� 
�� ����� max𝛼∈𝒜𝜃
𝑢1(𝑘, 𝛼)� 8
 ������ � ���
���� 
��
 
�� �
�
� �� 𝑘′ ��
� 𝐼2(𝑘′) = 𝜃� 
��

����	�� �	
��� ������ 𝛼𝑘′
���� ������� 
� 𝒜𝜃� ��� 
�� �����
��� ����� 
�� ������ � �� �
 ���


max𝛼∈𝒜𝜃
𝑢1(𝑘, 𝛼)�

8��

 ��
��
���
�� ,������ �� ������ 
��
 
�� 
��� �
�
� �� 𝑘 ∈ 𝜃� ��
 ������ � ���
���� 
��
 
��


��� �
�
� �� 𝑘′ ��
� 𝜃′ = 𝐼2(𝑘
′) ∕= 𝜃� ,
���� ���	� 
�� �	
��� �
 ������ $ ��� ��	
�
�� �� ��� 
���


��� 𝜃� �� 
�� ����	�� �	
��� ������ ������� 
� 𝒜𝜃� ���� ������ � ���� ��
 ��	����� ��� ����� ��


��� �����
����

,������ ��� 
��
 
�� 
��� �
�
� �� 𝑘′ ��
 ������ $ ���
���� 
��
 ��� 
��� �� 𝜃� <������ �
���


��� $ ���� 𝛼𝑘′
−2 ��� 
�� ���
������ �
 ������ $ �
 
��� 𝜃

′ �� 𝛼𝑘′
−2 �� 	���
��	
���� <����� $ ��� 
���

�� ��	��
��� 
� ��������
� ���� ���� 
�� ����
 �
 
�� �������
���� □

6��� ��
 �� 
�/� �� 
�� ������� "�; 	��� ����� 
���� �� � ���
�
��� �
 
�� ��
 �
 �
�
��

𝐾 = 𝐾1 ∪ 𝐾2 ��	� 
��
= 𝐼𝑙(𝑘) = 𝐾 
�� ��	� 𝑘 ��� ��	� 𝑙 ∕= 1, 2� 𝐼1(𝑘) = {𝑘} 
�� ��	� 𝑘 ∈ 𝐾1�

𝐼2(𝑘) = {𝑘} 
�� ��	� 𝑘 ∈ 𝐾2�

+���������� "�� <
��� ()�� 
��
 𝑉 ∗(ℐ, 𝑢) �� 
�
��	�
� ��� 
�� ����� �
���	�
��
 �
���
����

1$



������ "�
 
�/� {𝐾1, 𝐾2} �� 
�� ���
�
��� �
 𝐾 ��	� 
��
 𝐾1 �� 
�� ������
 �����
 �
 𝐾 ��
��
����

𝐼1(𝑘) = {𝑘} 
�� ��	� 𝑘 ∈ 𝐾1� "�
 𝐿 := {𝐿1, . . . , 𝐿𝑀} �� 
�� ���
�
��� ���� 𝐾2 
��
 �� ����	�� ��

������ � ��
����
���� ���� �� �����

∙ ∪𝑚𝐿𝑚 = 𝐾2

∙ 8
 𝑘, 𝑘′ ∈ 𝐿𝑚� 
��� 𝐼1(𝑘) = 𝐼1(𝑘
′)

∙ 8
 𝑘, 𝑘′ ∈ 𝐿𝑚� 
��� 𝑢1(𝑘, 𝛼) = 𝑢1(𝑘
′, 𝛼)

∙ ∀𝐿𝑚 ∈ 𝐿� �
 𝑘 ∈ 𝐿𝑚� 
��� 
���� �7��
� 𝑘
′ ∕= 𝑘� 𝑘′ ∈ 𝐿𝑚

>������� ���
 
�� ���� Γ𝐾1 ��
����� �� �������
��� 
�� �
�
�� �� 𝐾2� ��� ���� �������� �
�
��


�� 
��� ���� ��� 
���� �� 𝐾1 ��� ������ � �� 
�� ���
 ��
����� ������� ���� ���� ��� � �������
�

𝑉 ∗ 
��� <������
��� 2�$� >������� 
�� ����� 	���
��	
��� 
�� 
��� ���
��	
�� ���� ��� ����
� 𝛼𝑘
𝑖 �

𝑖 = 1, . . . , 𝑁 � 𝑘 ∈ 𝐾1 ������ 𝑖+� 	������������ ��7�� �	
��� �� �
�
� 𝑘� 6�
� 
��
 𝛼
𝑘
𝑖 � 𝑖 ∕= 2 ��� ��	�


��
 ���� ��� ������� 𝑖 ∕= 2 ���� 𝛼𝑘
𝑖 � 
��� ������ 𝑗 ≥ 3 ����� �� ������������ ��
����� ����������
��

�
 ������ $+� �
��
����

>������� ��� Γ𝐾2 ������ �� 
�� ���� ����� 
�� ���� �������� �
�
�� ��� 
���� �� 𝐾2 ���


�� ����� 
��	
��� �
 ������ $ �� �
�
� 𝑙 ∈ 𝐾2 �� 𝑢̂2(𝑙, 𝛼) := −𝑢1(𝑙, 𝛼) ����� 
�� ����� 
��	
����

�
 ��� 
�� �
��� ������� ��� �� �� 
�� �������� ����� ���� �� � ���� �
 /�������� ����� �����

������ � /���� �
 ����
 �� ��	� �� ������ $� ���� ������ � �� 
���� ��
������ "�
 𝛼𝑙
𝑖� 𝑖 = 1, . . . , 𝑁 �

𝑙 ∈ 𝐾2 �� ������ 𝑖+� ��7�� �	
��� ��
����� �� ����� 
�� �������� 	���
��	
��� �� Γ𝐾2 #������ �

������	��� ��� ������� ��
 ������ $ �
��� ���� �
��
����� ��� ������ $ ���
 ��������'� 6�
� 
��


�
 𝑙, 𝑙′ ∈ 𝐿𝑚 ⊆ 𝐾2� 
��� 𝛼
𝑙
𝑖 = 𝛼𝑙′

𝑖 � (��� 
�� 
��� ���� 𝛼
𝑙
𝑖� 𝑖 ∕= 2 ��� ��	� 
��
 ���� ��� ������� 𝑖 ∕= 2

���� 𝛼𝑙
𝑖� 
��� ������ 𝑗 ≥ 3 ����� �� ������������ ��
����� ����������
�� �
 ������ $ �
��
���� 8�

����
��� ������ � ��	��
��� 	����
�����
� 	���
����
 ������� 
��


1?



min
𝛼2

𝑢1
(
𝑙, 𝛼𝑙

−2, 𝛼2

) ≥ min
𝛼2

𝑢1

(
𝑙, 𝛼𝑙′

−2, 𝛼2

)


�� ��� ���� 𝑙, 𝑙′ ∈ 𝐾2� 6�
� ���� 
��
 
�� ��� 𝑙 ∈ 𝐾2

max
𝑘∈𝐾1

min
𝛼2

𝑢1
(
𝑙, 𝛼𝑘

−2, 𝛼2

) ≤ min
𝛼2

𝑢1
(
𝑙, 𝛼𝑙

−2, 𝛼2

)

B
�������� �� ���� Γ𝐾2� ������ � ����� ���� 	����� 
�� �
�
� 𝑙 � �
��
��� 𝛼𝑘
−2 
�� ���� 𝑘 ∈ 𝐾1

���
��� �
 𝛼𝑙
−2�

��/� � �
�
� 𝑘 ∈ 𝐾 ��� � �
��
��� ������ 𝛼−2 
�� ��� ������� ��
 $ ��� 	�����

𝛽𝑘
2 (𝛼−2) ∈ arg min

𝛼2

𝑢1 (𝑘, 𝛼−2, 𝛼2) ,

𝑏𝑟𝑘2(𝛼−2) ∈ arg max
𝛼2

𝑢2 (𝑘, 𝛼−2, 𝛼2) ,

>������� 
�� 
�������� 	���
��	
���=

∙ /
�� +� &���� �

��
��	�

� <������ � ��� $ ������	� 
���� 
����� "�
 𝜃1 ��� 𝜃2 �� 
����

������	����
�

∙ /
�� ,��� ������� ����� 8
 
�� 
���� �� �� 	��
����	
��� �� ������ � ��� $ ������	����
��


���

5 8
 
�� �
�
� 𝑘 ∈ 𝐾1 �� ������	��� 
��� ������� �
��� 
��� $ ���� 𝛼
𝑘
−2 ��� ��� ������ $


�/�� � ���
 ������

5 8
 
�� �
�
� 𝑙 ∈ 𝐾2 �� ������	�� � 
��� ������� �
��� 
��� $ ���� 𝛼
𝑙
−2 ��� ������ $ 
�/��

� ���
 ������

1A



∙ /
�� ,��� ��
�
�
�� ����� 8
 
���� �� � 	��
����	
��� ������	����
� 
���

5 8
 
�� ������	����
 �� 𝜃1 = 𝑘 ∈ 𝐾1 ��� 𝜃2 = 𝑙 ∈ 𝐾2� 
��� ������� �
��� 
��� $ ����

𝛼𝑘
−2 ��� ������ $ ����� 𝛽

𝑙
2(𝛼

𝑘
−2)�

5 8
 
�� ������	����
 �� 𝜃1 = 𝐿𝑚 ∈ 𝐿 ��� 𝜃2 = 𝑙′ /∈ 𝐿𝑚� 
��� ������� �
��� 
��� $ ����

𝛼𝑙
−2� ��
� 𝑙 ∈ 𝐿𝑚� ��� ������ $ ����� 𝛽

𝑙′
2 (𝛼𝑙

−2)�

5 8
 
�� ������	����
 �� 𝜃1 = 𝐿𝑚 ∈ 𝐿 ��� 𝜃2 ∈ 𝐾1� 
��� ������� �
��� 
��� $ ���� 𝛼
𝑙
−2

��
� 𝑙 ∈ 𝐿𝑚� ��� ������ $ 
�/�� � ���
������ 
�� 
�� ������	�� 
��� 𝜃2�

��� ��
�����
�
��� �� 
�� 
��������� (� �� 
�� ����
 �
 <������
��� 2�$� ������ � 	������ �� �	
���

������ 𝛼2 
��
 ��	���� 
�� �����7 ������ �
 
�� ����
����� ������� #�������	
��� �
 
�� �	
��� �


������ $'� ��� ������ $ 
�/�� � ���
������� B� 𝐾1� 
�� 	���
��	
��� �� �����
����� ��	������� B�

𝐾2� ������ � ��/�� 
��� 	���	�� �7��	
��� ������ $ 
� �� ����������� #𝑢̂2(𝑙, 𝛼) := −𝑢1(𝑙, 𝛼)'� 8


������ � ��������
�� ������ $ ��/�� 
��� �7��	
�
��� ������ ��� ��������� 
�� ����� �
 ������ ��

B
�������� ��� 
�/�� � ���
 ����� �		������ 
� ��� �	
��� ����� 
��	
���� ���� ����� �� ��	��
���


� ������ �� ��� ���
��� ������ $ 
� 
�/� ��� ���
 ����� ��
��� 
��� ��������� ����

=������
��
 
��
 
�� �
��
��� ���
� � ����� ���
�� �
 𝑉 ∗

�
�������� ��
��
���
�� >������� 
�� ������ 
��� 
�� ������� ����� ��� ����� �� 	������ 8@ 
��

������ 𝑖 ≥ 3 
��� 
�� 	���
��	
����� <����� $ ����� �� 8@ ���	� ��� �� ���
 �������� 
� 
�� �
���

������� �
��
������ 8� �
�
�� 𝑘 ∈ 𝐾1� ������ �+� 8@ 
������ 
��� 
�� 	���
��	
��� �
 
�� �����������

�
 
�� ���� Γ𝐾1 � 8� � �
�
� 𝑙 ∈ 𝐾2� ������ �+� ����� �� �
 ����
 �� ����� �� 
�� ��� �� 
�� ����

Γ𝐾2 ���	� �� ������������ ��
������ 8���� 
�� 𝑙 ∈ 𝐾2 �� �����

𝑣𝑙1 = 𝑢1
(
𝑙, 𝛼𝑙

−2, 𝑏𝑟
𝑙
2(𝛼

𝑙
−2)

) ≥ min
𝛼2

𝑢1
(
𝑙, 𝛼𝑙

−2, 𝛼2

) ≥ 𝑢𝑙
1.

1*



�
��

��� ��	��
�����
�� 8� �
�
�� 𝐾1� ��	��
��� 	����
�����
� 
�� ������ � 
������ 
�� �����������

�
 Γ𝐾1� -�� 
�� �
�
�� 𝑙 ���	� ������ 
� ���� 𝐿𝑚 ∈ 𝐿� ������ $+� 
�/�� � ���
������ 
� (𝛼𝐿𝑚
−2 )

���	� ���� ��
 ������ �� 𝑙 ∈ 𝐿𝑚� ��� ��	��
��� 	����
�����
� 
�������

8��

 ��
��
���
�� ����� ��� 
���� �������� 
���� �
 	��
����	
��� ������	����
= -���
� 𝜃1 = 𝑘 ∈
𝐾1 ��� 𝜃2 = 𝑙 ∈ 𝐾25 ��	��� 𝜃1 = 𝐿′

𝑚 ∈ 𝐿 ��� 𝜃2 = 𝑙 /∈ 𝐿𝑚5 ��� 
����� 𝜃1 = 𝐿′
𝑚 ∈ 𝐿 ��� 𝜃2 ∈ 𝐾1�

8
 
�� �
�
� �� 𝑘 ∈ 𝐾1� ������ $ ��� �� ��	��
��� �
 ������	��� 𝜃2 = 𝑙 ∈ 𝐾2 �� �� ����� �� ���

�������� ������ � ���
��� �
 
�/��� ��� ���
 ������ ���
 ���

𝑢2
(
𝑘, 𝛼𝑘

−2, 𝛽
𝑙
2(𝛼

𝑘
−2)

) ≤ 𝑢2
(
𝑘, 𝛼𝑘

−2, 𝑏𝑟
𝑘
2(𝛼𝑘

−2)
)

= 𝑣𝑘2 .

,�������� �
 ������ � ������	�� 𝜃1 = 𝑘 ∈ 𝐾 ���� 
�� �
�
� �� 𝑙 ∈ 𝐿𝑚 ⊆ 𝐾2� 
��� 
������� �

���������
 �� ������ $ ��� ������ �+� ����� �� �
 ���
�

max
𝑘∈𝐾1

𝑢1
(
𝑙, 𝛼𝑘

−2, 𝛽
𝑙
2(𝛼

𝑘
−2)

)
= max

𝑘∈𝐾1

min
𝛼2

𝑢1
(
𝑙, 𝛼𝑘

−2, 𝛼2

) ≤

≤ min
𝛼2

𝑢1
(
𝑙, 𝛼𝑙

−2, 𝛼2

) ≤ 𝑢1
(
𝑙, 𝛼𝑙

−2, 𝑏𝑟
𝑙
2(𝛼

𝑙
−2)

)
= 𝑣𝑙1

>������� ��� 
�� ������	����
 𝜃1 = 𝐿𝑚 ��� 𝜃2 = 𝑙′ ∈ 𝐾2 ��
� 𝑙
′ /∈ 𝐿𝑚� 8
 
�� �
�
� �� 𝑙 ∈ 𝐿𝑚�


��� ������ $ ��� �� ��	��
��� 
� ������	� 𝑙′ �� 
��� ����� 
������ � ���������
 ��������

𝑢2

(
𝑙, 𝛼𝑙

−2, 𝛽
𝑙′
2 (𝛼𝑙

−2)
)
≤ 𝑢2

(
𝑙, 𝛼𝑙

−2, 𝑏𝑟
𝑙
2(𝛼

𝑙
−2)

)
= 𝑣𝑙2.

11



8
 
�� �
�
� �� 𝑙′ /∈ 𝐿𝑚� 
��� ������ � ��� �� ��	��
��� 
� ������	� 𝐿𝑚 �� 
��� ����� 
������ �

���������
 �������� �
 ���


max
𝑙∈𝐾2

𝑢1

(
𝑙′, 𝛼𝑙

−2, 𝛽
𝑙′
2 (𝛼𝑙

−2)
)

= max
𝑙∈𝐾2

min
𝛼2

𝑢1
(
𝑙′, 𝛼𝑙

−2, 𝛼2

) ≤

≤ min
𝛼2

𝑢1

(
𝑙′, 𝛼𝑙′

−2, 𝛼2

)
≤ 𝑢1

(
𝑙′, 𝛼𝑙′

−2, 𝑏𝑟
𝑙′
2 (𝛼𝑙′

−2)
)

= 𝑣𝑙
′
1

����� 
�� ���
 ��������
� 
������ 
��� 
�� 8> 	���
����
 �
 ������ � �� ���� Γ𝐾2�

-������� 	������� 
�� ������	����
 𝜃1 ⊆ 𝐾2 ��� 𝜃2 ⊆ 𝐾1� ���� �		��� 
�� ���
��	� �
 
�� �
�
�

�� 𝑘 ∈ 𝐾1 ��� ������ � ������	�� 𝐿𝑚 ⊆ 𝐾2� "�
 𝑙 ∈ 𝐿𝑚� 
��� ������ �+� ����� �� 
�� ����	��

����
��	� ���� ��

𝑢1
(
𝑘, 𝛼𝑙

−2, 𝑏𝑟
𝜃2
2 (𝛼𝑙

−2)
) ≤ 𝑢1

(
𝑘, 𝛼𝑘

−2, 𝑏𝑟
𝜃2
2 (𝛼𝑘

−2)
)

= 𝑣𝑘1 ,

�
�������� �� ���� Γ𝐾1 ������ � ����� ���� 	����� �
��
����� 𝛼
𝑙
−2 �� 
�� ����������� �
��
����� 
��

�
�
� 𝑘� ,��������� �
 
�� �
�
� 𝑙 ∈ 𝐿𝑚 ��� ������ $ ������	�� 𝜃1 = 𝐾1� 
��� ������ $ ����� �� 
��

����
��	� ����� �� 𝑢2
(
𝑙, 𝛼𝑙

−2, 𝑏𝑟
𝜃2
2 (𝛼𝑙

−2)
) ≤ 𝑢2

(
𝑙, 𝛼𝑙

−2, 𝑏𝑟
𝑙
2(𝛼

𝑙
−2)

)
= 𝑣𝑙2� ���	� ������ $ ���
��� 
� 
�/�


�� ���
������ �		������ 
� ��� �	
��� ����� 
��	
���� □

������������ �����	�� ��  !��	��"���� �#�	�	$�	� 	� %���


&	�' ���������� ��������	��( �'�������	)��	�� ��� ��	
�����*

�������� �� �	

� 
� �
�
	�� ���

,��	���	� �� ��
����� �� 
�� ,�	
��� *� -�� 
�� ��	����
� ���
� ������ 
��
 
���� ��� 
�� �
�
��

𝑘, ℓ ��	� �
 ���
 ������� � ��� $ ���
������� 
���� 
�� �
�
��� >������� 
�� 
�������� �7������

��� 
� @�����
 #$%%�'� ����� ��� 
���� ������� �� $� ?� ��� �� 	������� ���� 
�� �
�
�� 𝑘, ℓ� B
���
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������� ���� �� ��P���	� �� �������� ��� ������� �� �
��� �
�
�� �� ��
 ������ �� �	
�����

��� ����� ��
��7 �� �
�
� 𝑘 �� 
�� 
��������=

𝐿 𝑅

𝑇 1, 1, 0 1, 1, 0

𝐵 1, 1, 0 1, 1, 0

𝑊

𝐿 𝑅

𝑇 0, 0, 1 0, 0, 1

𝐵 0, 0, 1 0, 0, 1

𝐸

��� ����� ��
��7 �� �
�
� ℓ ��=

𝐿 𝑅

𝑇 0, 0, 1 0, 0, 1

𝐵 0, 0, 1 0, 0, 1

𝑊

𝐿 𝑅

𝑇 1, 1, 0 1, 1, 0

𝐵 1, 1, 0 1, 1, 0

𝐸

-���
� ������ 
��
 ���� ������ � /���� 
�� �
�
� ��� ������ 
��
 𝑉 ∗(ℐ, 𝑢) �� �������
�� ���

8@ 	����
��� 
�� ������ ? ������� 
��
 �� ����� 𝐸 �� �
�
� 𝑘 ��� 𝑊 �� �
�
� ℓ� ,��	� 
�� ���
����	�

�������� �
 ������ � �� 
�� ������
� �
 
�� ��� �
 ������ ?� 
��� �����
�� 
�� 8> 	����
����

(����� ��� 
��
 ������� � ��� $ /��� 
�� �
�
�� ,������ 
��
 
���� �7��
� � ����� ��	
�� ��

𝑉 ∗(ℐ, 𝑢)� 8
 ������� � ��� $ ��
� ������	� 𝑘� ���������� ��
������
� ������� 
��
 ������ ? �����

𝐸� ��� ����� ��	
�� �� �
�
� 𝑘 �� 
��� (0, 0, 1)� ,��������� �
 ������� � ��� $ ������	� ℓ� ������ ?

����� 𝑊 ��� 
�� ����� ��	
�� �� �
�
� ℓ �� (0, 0, 1)�

6��� ������� 
��
 ������ � ������	�� 𝑘 ��� ������ $ ������	�� ℓ= ��
��� 
�� 
��� �
�
� �� 𝑘

��� ������ $ �� ��������
��� �� 
�� 
��� �
�
� �� ℓ ��� ������ � �� ��������
���� ��� N@ 	����
���

������� 
��
 
���� �7��
� � ���
����
��� �
 �	
��� ������� 𝛼 ��	� 
��
 𝑢1(ℓ, 𝛼) ≤ 0 ��� 𝑢2(𝑘, 𝛼) ≤ 0�

���� �� ���������� ���	� 
�� ��	� �	
��� ������ 𝑎� 𝑢1(ℓ, 𝑎) + 𝑢2(𝑘, 𝑎) = 1� □
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�������� �� �	

� 
� �
�
	�� ����

,��	���	�= -�� ��	� �
�
� 𝑘� �7 � ��	
�� 𝑣𝑘 
��
 �� ������������ ��
����� �� 
�� 	�����
�

��
����
��� ���� 	������������ 
� �
�
� 𝑘� ����� 𝑣𝑘 ≥ 𝑢𝑘� �� ���� 
��
 𝑣 :=
{
𝑣𝑘
}
�� �� 𝑉 ∗� ����

������ �� 	����� 
� �� ������������ ��
������ �0 �
� 8�= ���� 
���� �� �� �����
��� ������� 
��

��
����
��� ���� �� ������� �
��� 
��� 𝑖 �� ���	���
 
� ������ 
�� �
�
�� ����� ������ 𝑖 ��� ��

	���	� ��
 
� �� ��	�����
��
 ��
� 
�� �
��� �������� �� �� ����� ��
� 
�� ����
��	�
��� �
 
��

�
�
�� ��� ���
����
��� 	������������ 
� 
�� ��� ��
	��� 	�� �� ���� 
� ��
�� � ������ 
���

�����
����

6�	����
�= >������� 
�� 
�������� ���� 
��
 ��� � ��� ��
	��� ��� ����� ������ � �� �����
���


� ����
�
� 
�� �
�
�� -�� 
��� ����� 𝑉 ∗(ℐ, 𝑢) = ∅�

��	�� � "�� '&��� ���	��� �� ����
�� ���	 :>�
�� �
� $���� ,??@*� &���� ��� 
"� �
�
�� 𝑘, 𝑘′,

�
� 
"� �������� ������ + �� �
���	�� �� 
�� �
�
�� ������ , �� 
�
� &�� ����� 	�
��� �
 �
�
�� 𝑘

�
� 𝑘′ ��� 
�� �����"�
��

𝐿 𝑀 𝑅

𝑇 10,−4 1, 1 10,−4

𝐵 1, 1 0, 0 −1,−4

�
�
� 𝑘

𝐿 𝑀 𝑅

𝑇 0, 0 1, 1 10,−4

𝐵 1, 1 10,−4 −1,−4

�
�
� 𝑘′

%�
��
 ������ {𝐵,𝑅} �� 
�� ��� ��
��	�� ������ + ��
 �����

�� � ����� �� �
 ����
 3 �
 �
�

�� 
�� �
�
�� �� ��
��	�A�
� ������� ��
"��
 𝑈 �
� 𝐷 �
� ������ , ��
 �����

�� �
 ����
 0 �
 ����

�
�
�� &��� �	����� 
��
 
�� ����������	 ���
����
��
 ���� ��
��
 ������� ��

�
 �����
 ���������
�

	��� 
��
 1/5 
� ��
��
 ������� ������
� −4 
� ������ ,� �
 
��
� 
��� �	����� 
��
 ������ +5�

����� �� �
 	��
 14/5 �
 ���� �
�
�� � ��

�����
��
� □

1&



�������� �� �	

� 
� �
�
	�� ����

6�	����
� 	�� �� ����� �� 	���������� � 
��������� 
�������� ���� ����� ��
� ������� ���

�����
���� 8� 
��� 	��
�7
 � 	���
����7����� �� 
���� �� C���� #�&&$' ��� ��  !���� ��� "���

#$%%&'� ���� �7����� �� ���� �� (������7 . #�7����� ('� �� ����� ���	���	�� 	������� � ����

��
� /�������� ������ ��� � ��� ��
	���� ��� �� ��
����
��� �
��	
��� ��
� �
 ���
 ���

�����
��� ������ ��� �
�
�� <��
�
��� 
�� ��
 �
 �
�
�� ��

𝐾 = 𝐾0 ∪𝐾1 ∪ ⋅ ⋅ ⋅ ∪𝐾𝑆,

����� 
�� ��	� 𝑘 ∈ 𝐾0� 
���� �� �� �����
��� ������ �
 𝑘� ��� 
�� ��	� 𝑠 = 1, . . . , 𝑆� 
���� �7��
� �

������ ������ 𝑖𝑠 ��� �� �����
��� �
 �
�
�� �� 𝐾𝑠� ���
 ���

�' 
�� ��� 𝑘, 𝑘′ �� 𝐾𝑠� 𝐼𝑖𝑠(𝑘) ∕= 𝐼𝑖𝑠(𝑘
′)�

�' 
�� ��� 𝑘, 𝑘′ �� 𝐾𝑠 ��� ��� ������� 𝑗 ∕= 𝑖𝑠� 𝐼𝑗(𝑘) = 𝐼𝑗(𝑘
′)�

	' 
�� ��� 𝑘 ∈ 𝐾𝑠� 𝑘
′ /∈ 𝐾𝑠� 
���� �7��
� 𝑗 ∕= 𝑖𝑠 ��	� 
��
 𝐼𝑗(𝑘) ∕= 𝐼𝑗(𝑘

′)�

�� 	���
��	
 ��� 	��� 𝐾𝑠 �
 
��� ���
�
���� 	������� � �
�
� 𝑘 ��	� 
��
 ���� ������ 𝑖 �� �����
��� �



��� �
�
�� ���� ����� 
��
 𝐼−𝑖(𝑘) ∕= {𝑘}� ,�
 
��� 𝐾𝑠 = 𝐼−𝑖(𝑘) ��� 𝑖𝑠 = 𝑖� <�����
� �' �� 	������

��
������ <�����
� �' ����� ���	� 𝐼−𝑖(𝑘)∩𝐼𝑖(𝑘) = {𝑘}� <�����
� 	' ����� ���	� �
 𝑘′ /∈ 𝐾𝑠 = 𝐼−𝑖(𝑘)�


���� ���
 �7��
 𝑗 ∕= 𝑖𝑠 ��	� 
��
 𝐼𝑗(𝑘) ∕= 𝐼𝑗(𝑘
′)�

>������ 
�� ��	� 𝑘 ∈ 𝐾0� �� ������������ ��
����� ����� 𝑣
𝑘 �� �
�
� 𝑘� -�� ��	� 𝑠 = 1, . . . , 𝑆�

	������� 
�� ���� ��
� ��	�����
� ��
����
��� Γ𝑠 �����=

∙ 8
 �� 	����� /�������� 
��
 
�� �
�
� ������� 
� 𝐾𝑠�

2%



∙ <����� 𝑖𝑠 /���� 
�� �
�
� ��� �
��� ������� ���� �� ��
����
����

"�
 𝑉 ∗
𝑠 �� 
�� ��
 �
 8>� 8@ ��� N@ ������ �
 
��� ����� ��� ��
����
��� �
��	
��� �
 Γ𝑠 �� ��	����

���/�� ��������� ����� 
��� ������� *�2� 𝑉 ∗
𝑠 �� �������
�� "�
 �� 	����� � ����� ����� ��


��� ��
� 
�� ��	� 𝑠� �� 	���
��	
 
�� ������� ����������� �� 
������� "�
 ������� ������	� 
����

��
����
���=

∙ 8
 
�� ������	����
� ����
�
� � �
�
� 𝑘 ∈ 𝐾0� 𝑣
𝑘 �� ��������
���

∙ 8
 �

�� 
�� ������	����
�� 
�� ��
 𝐾𝑠 �� 	����� /��������� 
�� 	����� ����������� �
 Γ𝑠

�� �������

∙ 8
 
�� ������	����
� ��� ��	�����
��
� 
�� ��� ��
	��� �� �������

��� ����	�� ����� ����� �� ������������ ��
������ �� ����� ��� 
��
 �� ������ ��� �� ��	��
���


� ��������
� <����� 𝑖 ��� �� ��
 �����
��� �
 �
�
� 𝑘 ��� �� �
��� 	���	� 
��� ��

��� 
�� �
�
� ��

�������� �� ����� ��	�����
��
 ��
� 
�� �
��� �������� ��� ��� ��
	��� ������� 
��
 �� ���/��

���
��� 
� 
��� 
�� 
��
�� >������� ������ 𝑖𝑠 �
 ���� �
�
� 𝑘 ∈ 𝐾𝑠� 8
 �� ������	�� 𝐼𝑖𝑠(𝑘
′) 
��

���� 𝑘′ ∈ 𝐾𝑠� 
�� ������	����
� ��� 	�����
��
� ;�	� ������ �� ��� ����� 
��
 
�� 
��� �
�
�

��� �� ��� 𝑘 �� 𝐾𝑠 ��� 
�� ����������� �
 Γ𝑠 	�� �� ������� 8
 ������ 𝑖𝑠 ������	�� 𝐼𝑖𝑠(𝑘
′) 
��

���� 𝑘′ /∈ 𝐾𝑠� ������
� 	' ����� ���� 
��
 
��� ������	����
 �� ��	�����
��
 ��
� ���� �
���

������+� �����
� <����� 𝑖𝑠 ��� 
��� �� �
��� 	���	� 
��� ��

��� 𝐾𝑠 �� �������� �� ����	��� 
�� ���

��
	���� ���� �������� � ���/ ��	��
��� 
� 
��� 
�� 
��
�� □

��������  � �	

� 
� �
�
	�� !��

D����

𝑢′1 := sup
{𝑝𝑖≥0:𝑖=2,...,𝑁}

val (𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖 − 𝑢𝑖1)),

2�



���

𝑢′′1 := sup
𝛼1∈△𝐴1

min
𝛼−1∈𝑌 (𝛼1)

𝑢1(𝛼1, 𝛼−1).

�� ���� ������� ������ 
��
 𝑢∗1 ≥ 𝑢′1� "�
 �� ���
 ���� 
��
 𝑢
′
1 ≥ 𝑢′′1� .� �����
���� 
�� ��� 𝜀 > 0�


���� �7��
� (𝑝2, . . . , 𝑝𝑁) ≥ 0 ��� 𝛼1 ∈ △𝐴1 ��	� 
��


𝑢′1 − 𝜀 ≤ val (𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖 − 𝑢𝑖1))

≤ min
𝛼−1

{𝑢1(𝛼1, 𝛼−1) −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖(𝛼1, 𝛼−1) − 𝑢𝑖)}

≤ min
𝛼−1

{𝑢1(𝛼1, 𝛼−1) −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖(𝛼1, 𝛼−1) − 𝑢𝑖1) : 𝛼−1 ∈ 𝑌 (𝛼1)}

≤ min
𝛼−1

{𝑢1(𝛼1, 𝛼−1) : 𝛼−1 ∈ 𝑌 (𝛼1)} ≤ 𝑢′′1.

>���������� 
�� ����� 𝜀 > 0� 
���� �7��
� 𝛼1 ∈ △𝐴1 ��	� 
��
 min𝛼−1∈𝑌 (𝛼1) 𝑢1(𝛼1, 𝛼−1) ≥ 𝑢′′1−𝜀�
�����
���� �7��� 𝛼1 ∈ △𝐴1� 
�� ����� 𝛼−1 ∈ ℝ

∣𝐴−1∣
+ �

(
𝑢𝑖(𝛼1, 𝛼−1) − 𝑢𝑖

∑∣𝐴−1∣
𝑎=1

𝛼−1,𝑎

)
𝑖 ∕=1

≥ 0 ⇒ 𝑢1(𝛼1, 𝛼−1) − (𝑢′′1 − 𝜀)
∑∣𝐴−1∣

𝑎=1
𝛼−1,𝑎 ≥ 0.

.� -��/��+ "����� 
���� �7��
� (𝑝2, . . . , 𝑝𝑁) ≥ 0 ��� � 	���
��
 𝛾 ∈ ℝ
∣𝐴−1∣
+ ��	� 
��
� 
�� �����

𝛼−1 ∈ △𝐴−1�

𝑢1(𝛼1, 𝛼−1) − 𝑢′′1 + 𝜀 =
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖(𝛼1, 𝛼−1) − 𝑢𝑖) + 𝛾 ⋅ 𝛼−1

≥
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖(𝛼1, 𝛼−1) − 𝑢𝑖).

�����
����

𝑢′1 + 𝜀 ≥ val (𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖(𝑢𝑖 − 𝑢𝑖1)) + 𝜀 ≥ 𝑢′′1.

2$



�� ��� ���� 
��
 
�� ����� �� �

����� �� 𝑢𝑘
1 = −𝑢𝑘� ∀𝑘 = 2, . . . , 𝑁 � M���� ���� ������������ ��


𝜇𝑖 ∈ △𝐴 �� 
�� �		���
��� ������� ���� ������ � �� �
 
��� 𝑖 #
�� ��
����� 
��� �� 
��� �'� <�����
𝑖+� ���������� ��
������
� �� ���������
 
�� 
�� ��� 𝑖� 𝑢𝑖(𝜇

𝑖) ≥ 𝑢𝑖� -��
���� ������ �+� �����������
�

��
������
� 	����
��� �
�
�� 
��
� 
�� ����� 𝑝 ∈ △{1, . . . , 𝑁}�

𝑝1𝑢1(𝜇
1) +

∑𝑁

𝑖=2
𝑝𝑖(−𝑢𝑖(𝜇

𝑖)) ≥ val (𝑝1𝑢1 −
∑𝑁

𝑖=2
𝑝𝑖𝑢𝑖),

��� 
����
���� 
�� 
�� 	���	� 𝑝𝑖 = 1, 𝑝𝑗 = 0, ��� 𝑗 ∕= 𝑖� �
 
������ 
��
 −𝑢𝑖(𝜇
𝑖) ≥ val (−𝑢𝑖) = −𝑢𝑖.

 ��	�� 𝑢𝑖(𝜇
𝑖) = 𝑢𝑖� ����� �� 	�� �����
� 
�� ���������� ��
������
� 	����
��� ��

𝑢1(𝜇
1) ≥ val (𝑢1 −

∑𝑁

𝑖=2

𝑝𝑖
𝑝1

(𝑢𝑖 − 𝑢𝑖1)),

���� 𝑢1(𝜇
1) ≥ 𝑢′1� 8�	��
��� 	����
�����
� �
 (𝜇𝑖)𝑖 �� ��������

8
 ������� 
� ���� 
��
� 
�� ����� 	���	� �
 𝐾 ��� 𝑢𝐾 � 
���� ������ �7��
� �� ����������� ��

���	� ������ �+� ��
����� 
��� ���� ��
 �7	��� 𝑢′1� <�	/ ��� ��	� ����� "�


𝑣𝑘1 := max
𝜇∈△𝐴

{𝑢𝑘
1(𝜇) : 𝑢1(𝜇) ≤ 𝑢′1, 𝑢𝑖(𝜇) ≥ 𝑢𝑖, ∀𝑖 ≥ 2},


�� ��� 𝑘 = 1, . . . , 𝐾� ��
� 𝑢11 = 𝑢1� ,��	� 𝑢
′
1 ≥ 𝑢1� 
�� 
��/ 
������ ����� 	�����
� ��
����
���

������� 
��
 
�� ��
 �� 
�� ����
����� ���� �� �������
�� �� 
��
 𝑣𝑘1 �� ������������ >������� 
��

�	
��� ������� 𝛼𝑘 ��� ��	��
��� 	����
����� ��� ������������ ��
����� 
�� ��� ������� 𝑖 ≥ 2� 8


������� 
� ���� 
��
 �
 �� ��	��
��� 	����
���� 
�� ������ �� ����� 
��
 
�� ��� 𝑝 ∈ △{1, . . . , 𝐾}�

∑𝐾

𝑘=1
𝑝𝑘𝑣

𝑘
1 ≥ val (

∑𝐾

𝑘=1
𝑝𝑘𝑢

𝑘
1).

2?



-��� 
�� �����
��� �
 𝑣𝑘1 � �
 
������ 
��
 
�� ����� 𝑘 = 1, . . . , 𝐾 ��� 𝛼 ∈ ℝ
∣𝐴∣
+ �

𝑢𝑖(𝛼) ≥ 𝑢𝑖1 ⋅ 𝛼, 𝑢′11 ⋅ 𝛼 ≥ 𝑢1(𝛼) ⇒ 𝑣𝑘11 ⋅ 𝛼 ≥ 𝑢𝑘
1(𝛼).

.� -��/��+ "����� 
�� ����� 𝑘 = 1, . . . , 𝐾� 
���� �7��
� 𝛾𝑘 ≥ 0, 𝜆𝑘
𝑖 ≥ 0 ��	� 
��
 𝑣𝑘11 − 𝑢𝑘

1 ≤
𝛾𝑘(𝑢′11 − 𝑢1) +

∑𝑁
𝑖=2 𝜆

𝑘
𝑖 (𝑢𝑖 − 𝑢𝑖1)� �����
���� 
�� ��� 𝑝 ∈ △{1, . . . , 𝐾}�

val (
∑𝐾

𝑘=1
𝑝𝑘𝑢

𝑘
1) ≤

∑𝐾

𝑘=1
𝑝𝑘𝑣

𝑘
1 −

∑𝐾

𝑘=1
𝑝𝑘𝛾

𝑘𝑢′1 + val (
∑𝐾

𝑘=1
𝑝𝑘(𝛾𝑘𝑢1 −

∑𝑁

𝑖=2
𝜆𝑘
𝑖 (𝑢𝑖 − 𝑢𝑖1))),

��� �� ���������� ��
������
� 
�� ������ � �� ��
����� �


∑𝐾

𝑘=1
𝑝𝑘𝛾

𝑘𝑢′1 ≥ val (
∑𝐾

𝑘=1
𝑝𝑘(𝛾𝑘𝑢1 −

∑𝑁

𝑖=2
𝜆𝑘
𝑖 (𝑢𝑖 − 𝑢𝑖1))).

���� �� ��
����� �

∑𝐾

𝑘=1 𝑝𝑘𝛾
𝑘 = 0� ��� �
 ��
� �������

𝜈𝑖 := (
∑𝐾

𝑘=1
𝜆𝑘
𝑖 𝑝𝑘)/(

∑𝐾

𝑘=1
𝑝𝑘𝛾

𝑘) ≥ 0,

�
 �� ���������
 
�

𝑢′1 ≥ val (𝑢1 −
∑𝑁

𝑖=2
𝜈𝑖(𝑢𝑖 − 𝑢𝑖1))),

���	� �� ��
����� �� �����
��� �
 𝑢′1� □

�������� "� �	

� 
� �	
�
#���
� ���

��/� �� ��
����
��� �
��	
��� ℐ ��
� � ������ ��0���
� 	�������
 ��� ��� 
��
 ������ 𝑖 ��

������ �
 𝐼𝑖(𝑘) = 𝐾 
�� ��� 𝑘5 ������ 𝑖 �� 
�
�
������ �
��������

2A



����	 "�! �� 
���� ��� �
 	��
 
"� 
�
�
������ �������� 
��
 ��
��� ℐ �� $4 �� 
���� �� � �����

�� 
���� �
�
��� ���� 
��
 
�� ���
���
��
 �� ℐ 
� 
��� �����
 �� �� 
��� %�

������ "�
 �� $ �� 
�� 
�� ����
������ �������� 8
 �
 ����� 
�� ��	� 𝑘 
��
 𝐼1(𝑘) ⊆ 𝐼2(𝑘) ��

𝐼2(𝑘) ⊆ 𝐼1(𝑘)� 
��� �
 �� "�;� B
������� 
���� �7��
� � �
�
� 𝑐 ��	� 
��
 
�� 
�� ��
� 𝐼1(𝑐)� 𝐼2(𝑐)

��� ��
 	���������� ���
 ��� 
���� �7��
� 𝑐′ ��� 𝑐′′ ��	� 
��
 𝑐′ ∈ 𝐼1(𝑐)∖𝐼2(𝑐) ��� 𝑐′′ ∈ 𝐼2(𝑐)∖𝐼1(𝑐)�
��� �����
 {𝑐, 𝑐′, 𝑐′′} �� �� ��������� □

+���������� "�" �� 
���� ��� �
 ����
 
���� 
�
�
������ �������� 
��
 ��
��� ℐ ��� 
�� �������
�
��
�
������
�� �� 
���� �� � �����
 �� 
���� �
�
�� ���� 
��
 
�� ���
���
��
 �� ℐ 
� 
��� �����
 �� �� 
���

%� ;� 0 �� #�

������ ��� ����
 �� �� ����	
��� �� 
�� ������ �
 �
�
��� -���
� ������ 
��
 
���� ��� ���� 
����

�
�
��� �� ����
� �� ; 
�� ?��
�
�� ?�������� ���������
���� ��
����
��� �
��	
���=

𝑘1 𝑘2 𝑘3

1 𝑘1 ∗ ∗
2 ∗ 𝑘2 ∗
3 ∗ ∗ 𝑘3

;

����	 "�# % -��
�
� �
���	�
��
 �
���
��� "���� ��� �
�� �
� 	�����
� ��	��
�

 �
� "����

�� 
�
 $4 �� %� ;� 0� # ��  �

������ �� ����� 
��� �� �������
����

-���
� ��	���� 
�� ��
����
��� �� ��
 "�;� 
���� ���
 �7��
 $ �������� ��� ������ �� $� ���


���� �
�
��� ����
�� 𝑘1, 𝑘2, 𝑘3� ��	� 
��
 𝑘1 /∈ 𝐼1(𝑘3)� 𝑘2 ∈ 𝐼1(𝑘3)� 𝑘2 /∈ 𝐼2(𝑘3)� 𝑘1 ∈ 𝐼2(𝑘3)� ���
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��� 
���� ���
 �7��
 
�� ������� ��
� ����	��������� ��
����
��� �
 ���� �
�
�� �� ���	��� 
��

��
����
��� �
 
�� �
��� ��������

�� 8
 ��� �
��� ������� ���� �� ��
����
���� 
��� �� (� B
�������=

$� 8
 ���� ������ #������ ?' �� 
���� ��
�����=

#�' 8
 ��� �
��� ������� ���� �� ��
����
���� 
��� �� .�

#�' 8
 ������ A ��� ���� ��
����
���� 
���� �� ���� 
��� ��� ��0���
� 	�������
� -��

���
��	�� �
 ������ A ��� 
�� ���� ��
����
��� �� ������ �� {𝑘3} �� � ��0���
� 	�������
�
��� ��������� �� 
�� ���� �
 ������ A ��� 
�� ���� ��
����
��� �� ������ $� 8
 
��

��
����
��� �
 ������ A �� 𝐼4(𝑘3) ∕= 𝐼4(𝑘1) = 𝐼4(𝑘2)� �� ���� 
�� ���� 	��	������= 
����

������� #�� ?� A' 	�� ���
������� 𝑘1 ��� 𝑘3, ��� 
���� ������� #$� ?� A' 	�� ���
�������

𝑘2 ��� 𝑘3� �� {𝑘3} �� � ��0���
� 	�������
�

?� 8
 �� ������ �� 
���� ��
������ ��
 ���� ������ #������ ?' �� ���
����� ��
�����=

#�' 8
 ��� �
��� ������� ���� �� ��
����
���� 
��� �� > #�� 
� � ����������� �
 �������' �� ;�

#�' 8
 ������ A ���� ��� ���
��� ��
����
���� ��� �
��� ������� ����� ����
������ 
��� �
 ��

��
��� D �� 
���� �� ���� 
��� ��� ��0���
� 	�������
� .� �����
�� �� ��� ������


��
 ������� ? ��� A ���� 
�� ���� ��
����
���� 8
 �
 �� 
�� ���� �� 
��
 �
 ������ �

#����� ������ $' 
��� {𝑘3} �� � ��0���
� 	�������
� B
�������� �
 �� ���������
 
� ;�
��
� � 
���
� ������ ������ 
�� ���� ��
����
��� �� �� $ �� ?� 8� 
��� 	���� ��� ����

������ 
��
 �
 
�� 
���
� ������ ��� 
�� ���� ��
����
��� �� #����' ������ �� {𝑘1} �� �
��0���
� 	�������
�
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#	' -������� �
 ������� A ��� * ���� ���
��� ��
����
���� 
���� �� ���� 
��� ��� ��0���
�

	�������
� ����� ��� 
���� 
���� �
 ���
��� ��
����
��� ��� ��� �������� ;�
���


���� �
 
��� ���� 
�� ���� ��
����
��� ��� 
��� 	�� 
��� ���
������� �
�
��� B� 
��

��
����
��� �
��	
��� �� 
�� �����
��	 ���� ��
� 
�� �����	�
�� �������� ���	� �����

��	/ 
� 
�� �������� 	���� □

"�
 �� �� ��� 
�� ����	
��� �
��� ��/� ∣𝐾∣ > 3 ��� ������ 
��
 
�� �
�
����
 �
 <������
���

2�2 ����� 
�� ∣𝐾∣ − 1� �� 	������� �� ��
����
��� �
��	
��� ��
� ∣𝐾∣ �
�
�� ���	� ��� ���� ���
��0���
� 	�������
� �
 ����
 
���� ����
������ ������� ��� ���	� �� ��
 ���������
�����

>������� 
�� ����
��� �� �
�
�� ������ �� 𝑎𝑅𝑏 �� 𝜈(𝑎, 𝑏) ≤ 2, ��� 	������� ���� 
�� ����� �



��� ����
���� ℐ ��� ���� ��� ��0���
� 	�������
 ����� 
��
 
��� ����� �� 	����	
��� 6�
� 
��

�
 �� ����
� � �
�
� ��� ��� �
� ��0�	��
 ������ �� ��
��� 
�� ����� �
 
�� ����
��� �� 
�� ���
��	
��

��
 �
 �
�
��� ��/� ��� 
�� �
�
�� 𝑎 ��� 𝑏 ��	� 
��
 
���� �� � ��
� �� 
�� ����� 
��� 𝑎 
� 𝑏 ��
�

��7���� ����
� ����� 
�� ��
�� �� 
��� ������ ��� ����� ��
����� �� ����������� 𝑎 #����� 𝑏' ��

�
��� 	����	
��� 8������ ��� �
��� ����
 𝑐 �� 	����	
�� 
� 𝑏 #����� 𝑎' �� � ��
� 
��
 ���� ��
 ��


������ 𝑎 #����� 𝑏'� ���	� �
�������� 
��� ����� 	��
����	
 
�� ��7�����
� �
 
�� ��
� 
��� 𝑎 
�

𝑏� 8
 
������ 
��
 ℐ𝐾∖{𝑎} #����� ℐ𝐾∖{𝑏}' ��� ���� ��� ��0���
� 	�������
�

8
 ℐ𝐾∖{𝑎} �� ℐ𝐾∖{𝑏} ��� �
 ����
 
���� ����
������ ������� ��� �� ��
 �����
��	� �� ��� ���� ��

����	
���� (����� �
��������

0��� %� ;�
� ℐ𝐾∖{𝑎} �
� ℐ𝐾∖{𝑏} ���� �
 ����
 
���� 
�
�
������ ������� �
� ��� �������
�
��
��

-���
� 
�� ����
������ ������� ��� 
�� ���� 
�� ℐ𝐾∖{𝑎} ��� ℐ𝐾∖{𝑏}� 8������ ��
 𝑖 �� ����
������ 
��

ℐ𝐾∖{𝑎}� ����� �7��
� 𝑘 ∕= 𝑎 ��	� 
��
 𝐼𝑖(𝑘)∩𝐾 ∖ {𝑎} = {𝑘}� �� 
��
 𝐼𝑖(𝑘) ⊆ {𝑘, 𝑎}� ���� 𝑖 	����

�� 
������ �� ℐ𝐾∖{𝑏}= 
�� � 
������ ������ 𝐼𝑖,𝐾∖{𝑏}(𝑘) 	��
���� �
 ����
 
���� �
�
��� "�
 ��� 1, . . . , 𝑚

�� 
���� ����
������ ��������
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"�
 𝐾1, . . . , 𝐾𝑚 �� 
�� ���
�
��� ����	�� �� ℐ𝐾∖{𝑎} �� 𝐾 ∖ {𝑎}� ,��	� ℐ𝐾∖{𝑏} �� ���������
�����


���� �� � ������ ������� ��� ������ �� ��	� 
��
 𝐼1,𝐾∖{𝑏}(𝑎) = {𝑎}� ,� 
��
 𝐼1(𝑎) ⊆ {𝑎, 𝑏}�

∙ 8
 𝑏 ∈ 𝐾1� 	������� 
�� �
��� ����
������ ������� 𝑗, 𝑙 ��� 𝑐
′ ∈ 𝐾𝑙� .� 
�� ���������
����

������
� �
 ℐ𝐾∖{𝑎} ��� ℐ𝐾∖{𝑏}� ��� ��� 𝑎 ∈ 𝐼𝑗(𝑐
′) ��� 𝑏 ∈ 𝐼𝑗(𝑐

′)� ,� 
��
 𝑗 ���� ��


���
������� 𝑎 ��� 𝑏� 6��� ��
��� 𝐼1(𝑎) ∕= 𝐼1(𝑏) ��� ℐ �� ���������
����� �� 𝐼1(𝑎) = 𝐼1(𝑏) ���

�� ������ ���
��������� 𝑎 
��� 𝑏� 8� ��
� 	����� 
��� �� � 	��
����	
����

∙ 8
 𝑏 /∈ 𝐾1� ��� 𝑏 ∈ 𝐾2� 8
 𝐼1(𝑎) = 𝐼1(𝑏)� 
�/� 𝑐 �� 𝐾3� .� 
�� ���������
���� ������
� �
 ℐ𝐾∖{𝑎}
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